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1992 Mayis 35-44

Hastaligin Tanridan gelen bir ceza olarak gorildugu
zamanlardan bu yana tip, pek ¢cok asamadan ge¢mistir.

A) So far the biggest obstacle to be passed in medicine was
the belief that illness was a punishment from God.

B) Medicine has improved in many ways since then when
illness was regarded as a punishment from God.

C) At many stages the medical world regarded illness as a
punishment from God.

D) When disease was regarded as a punishment from God,
medicine had little chance of developing.

E) Medicine has passed through many phases from the times
when disease was regarded a punishment from God.
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Son yillarda, basin-yayin organlarinin etkisiyle Amerika ve
Avrupa’da bazi ilkel dinlere ilgi yogun olarak artmistir.

A) The recent increase of interest in such primitive religions in America
and Europe is due to the influence of the media.

B) In recent years, due to the influence of the media, interest in some

primitive religions has increased considerably in America and
Europe.

C) In recent years, in America and in Europe there has been an
increasing interest in various primitive religions that have been
brought to the fore by the media.

D) The media has recently shown decisively that there is an increase in
the influence of primitive religions in Europe and America.

E) In recent years, the nature of the influence of primitive religions on
life in Europe and America has been fully covered by the media.
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Aylar siiren siki pazarliktan sonra, her iki taraf da 6diinler verdi ve
bir uzlasmaya ulasild.

A) After months of hard bargaining, both sides made concessions and
an agreement was reached.

B) The bargaining was hard and continued for months but finally
concessions were made on both sides and an agreement reached.

C) The agreement concerning the concessions to be made by either
sides was only reached after months of hard bargaining.

D) According to the agreement that followed months of hard
bargaining both sides would have to make concessions.

E) It’s obvious from the way the bargaining goes that concessions will
have to be made on both sides if an agreement is to be reached.
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1970’lerin ortalarinda Avrupa’da petrol ithalatinin giderek artan maliyeti,
odemeler dengesi ve sanayi iliskileri Gizerinde olumsuz etki yapmustir.

A) The balance of payments and industrial relations during the 1970s in
Europe fell to a low ebb owing to the increased costs of oil imports.

B) In the mid-1970s in Europe the cost of increased oil imports had a negative
effect on the balance of payments and, therefore, on industrial relations.

C) In Europe in the mid-1970s the increasing cost of oil imports had an
adverse effect on the balance of payments and on industrial relations.

D) The increased cost of oil imports in central Europe in the 1970s upset the
balance of payments as well as industrial relations.

E) The rise in oil prices in the mid-1970s led to industrial problems in Europe
and so upset the balance of payments.
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1980’lerin basina kadar, ingiltere’deki sanayi iiretiminin en az
yiizde 25’| Amerikan sermayeli isletmelerin elindeydi.

A) Starting with the 1980s, the percentage of manufacturing output in
Britain dependent on American capital fell by a quarter.

B) In the early 1980s, nearly 25 per cent of industrial output of Britain
was dependent upon American capital.

C) At least a quarter of the British industrial projects have been
financed by America since the early 1980s.

D) By the beginning of the 1980s, at least 25 per cent of manufacturing
output of Britain was in the hands of concerns with American
capital.

E) The part played by American capital in British industry had risen by
25 per cent by the early 1980s
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Brahms’in sanatinin 6zii, onun oda muziginde
bulunur.

A) It is in his chamber music that the real art of Brahms
becomes apparent

B) The essential Brahms is only to be found in his
chamber music.

C) The chamber music of Brahms reflects the best of his
talent.

D) The essence of Brahms’s art is hardly to be found in his
chamber music.

E) It is in his chamber music that the quintessence of
Brahms’s art is contained.
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1920’de bile uzayda en az yarim milyon galaksi oldugu
biliniyordu.

A) Even in 1920 it was known that there were at least half
a million galaxies in space.

B) It was in 1920s that it was first realised that roughly
half a million galaxies existed in space.

C) Before 1920 very few of the half million galaxies in
space were discovered.

D) Until about 1920 very few of the half million galaxies in
space had been explored.

E) At least half of the million galaxies in space were only
discovered in and around 1920s.
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20 Mayis 1980’de yapilan halkoylamasinda, Quebec halki
Kanada’dan tamamen ayrilma onerisini reddetti.

A) The complete break between Canada and Quebec followed the
referendum held on 20 May 1980.

B) The people of Quebec, in the referendum held on 20 May 1980,
voted on the proposals that they should separate themselves
entirely from Canada.

C) In the referendum held on 20 May 1980, the people of Quebec
rejected the proposal to break away completely from Canada.

D) Following the referendum of 20 May 1980 the people of Quebec
proposed a complete break away from Canada.

E) With the referendum of 20 May 1980 the movement to separate
Quebec from Canada finally came to an end.
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Ingilterede’ki hiikiimet, kamu harcamalarinda énemli
kesintiler yapmasi i¢in basin-yayin organlarinin baskisi
altindadir.

A) The media played an important role in forcing the British
government to make cuts in public expenditure.

B) In Britain the government was pressurised by the media
into making a substantial cuts in public expenditure.

C) In Britain the government’s cuts in public expenditure were
to a large extent due to pressure from the media.

D) In Britain the government is under pressure from the
media to make substantial cuts in public expenditure.

E) According to the media, the government of Britain should
make substantial cuts in public expenditure.
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Yonetimde benimsenen yeni ekonomik politikalar,
personel arasinda bliylik bir huzursuzluga neden olmustur.

A) The management’s new economic policies seem likely to
cause considerable unrest among the employees.

B) The new economic policies adopted by the management
have caused a great deal of unrest among the employees.

C) There will be unrest among the employees once the
management introduces the new economic policies.

D) Management is uneasy about the response of the
employees to the new economic policies.

E) New economic policies might lead to more disagreements
between the management and the employees.
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1992 Kasim

Yerylziinde kag tur canli organizmanin yasadigini hig
kimse bilmiyor.

A) No one knows how many species of living organisms
inhabit the earth.

B) Everyone realises that the world is inhabited by
countless species of living organisms.

C) No one knows how the world came to be inhabited by
so many species of living organisms

D) No one knows how so many species of living organisms
came to inhabit the world

E) How many species of living organisms have in the
world will never be known.
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Yiiksek firinlarda islenen demir cevheri nadir olarak % 65'ten fazla
demir ihtiva eder ve bazen bu oran % 30‘a kadar diisebilir.

A) In a blast furnace, the only iron ore to be smelted is that which
contains between 30 % and 65 % iron.

B) The percentage of iron in the ore smelted in blast furnaces varies
between 30 % and 65 %.

C) The iron ore smelted in blast furnaces rarely has an iron content of
more than 65 % or less than 30 %.

D) The iron ore smelted in the blast furnaces rarely contains more than
65 % iron and sometimes the proportion may come down to 30 %.

E) After smelting in a blast furnace the percentage of iron in any ore
rarely exceeds 65 % or drops lower than 30 %.
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Hepimiz, hizla yok edilmekte olan tropikal ormanlarin
geleceginden c¢ok ciddi olarak endise duymaktayiz.

A) The rapid destruction of the tropical forests will soon
seriously concern us all.

B) We are all very seriously concerned about the future of
the tropical forests which are being rapidly destroyed.

C) With the rapid destruction of the tropical forests we
are all very worried about our future.

D) In future, if the tropical forests are destroyed so
recklessly, we will obviously be worried.

E) One of our serious worries about the future concerns
what is to happen to the tropical forests.
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Hizli nifus artisi goz oniine alindiginda, 6numuzdeki yillarda lilkenin pek
cok yoresinde yeni konutlar icin stirekli artan bir talep olacagi aciktir.

A) The rapid rate of population growth in recent years throughout the country
means that new housing schemes are in constant and increasing demand.

B) Due to the rapid growth in the population, in recent years there is sure to
be a continual demand for more houses throughout the country.

C) The demand for new housing schemes seems likely to spread to other
parts of the country in the immediate future owing to the rapid and
continual growth of the population.

D) There will be constant demands in the near future for new housing

schemes throughout the country as the population continues to grow at a
rapid pace.

E) In view of the rapid population growth, it is obvious that during the years
ahead there will be a continuing and increasing demand for new housing
in most parts of the country.
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20. ylizyildan o6nce, ngiltere’den baska, niifusunun ¢ogunlugu
sehirlerde yasayan tek uilke Almanya idi.

A) At the turn of the twentieth century, the majority of the population
of, first Britain, then Germany, were living in towns.

B) Germany and Britain were the only other countries to have a

majority of the population living in towns prior to the twentieth
century.

C) Germany was the only other country, besides Britain, to have a

majority of its population living in towns before the twentieth
century.

D) By the turn of the twentieth century, the majority of the population

of Britain, then of another country, Germany, were living in urban
areas.

E) Except for Britain and Germany, there were no countries with a
predominantly urban population before the twentieth century.
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Eger bir sanayi icin nakliye licretleri ¢ok yliksekse o sanayi icin bu
maliyetlerin en aza indirilmesini saglayacak uygun bir yer
secilebilir.

A) In choosing a suitable site for an industry transport costs deserve to
be given a high priority.

B) If transport costs can be reduced to a minimum, this will enable a
suitable industry to make a good profit.

C) The suitable location of an industry can greatly affect the transport
costs which need to be brought down to a minimum.

D) If transport costs are very high for an industry a suitable location
may be chosen for that industry, which will reduce these costs to a
minimum.

E) Transport costs can be reduced to a minimum if the location of an
industry is wisely chosen.
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Sanayi ve Ticaret Bakani gazetecilere elektronik alaninda yatirbm
vapilmasi icin yeni tesvikler verilecegini soyledi.

A) Journalists were told that the Minister of Trade and Industry is
encouraging people to invest in electronics.

B) The Minister of Trade and Industry has told journalists that new
incentives will be given to invest in electronics.

C) Journalists were advised not to discuss the topic of electronics
investments with the Minister of Trade and Industry.

D) The Minister of Trade and Industry discussed ways of encouraging
people to invest in electronics with some journalists.

E) The need for electronics investments was the main topic when the
Minister of Trade and Industry met the journalists.
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Rapor, Afrika'daki aglikla savasmak icin Birlesmis Milletlerce kabul
edilen uluslararasi isbirligi politikalarini ele almaktadir.

A) According to the report, the United Nations is waging war against
famine in Africa in accordance with policies international
cooperation.

B) The report deals with the need of the United Nations to adopt
policies of international cooperation to fight famine in Africa.

C) The report deals with the policies of international cooperation
adopted by the United Nations to fight famine in Africa.

D) The report suggests ways by which the United Nations could wage
war on the famine in Africa in line with the policies of international
cooperation.

E) If there were more international cooperation it could be easier to
overcome the famine in Africa in line with the policies of
international cooperation adopted by the United Nations.
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Afrika lilkelerinin ¢cogunda, 6zellikle Kenya’da kizamik en agir
cocukluk donemi enfeksiyonu olarak kabul edilmektedir.

A) Measles is generally regarded as one of the most dangerous

ilinesses, particularly among children in Kenya and elsewhere in
Africa.

B) In many of the countries in Africa, particularly in Kenya, measles is
regarded as the most acute childhood infection.

C) In the African state of Kenya it is generally agreed that measles is
the worst of the childhood ailments.

D) In Africa, Kenya excepted, measles is thought as the infection that
endangers most children.

E) The incidence of measles in childhood in Kenya and elsewhere in
Africa is exceedingly high.
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Tiirkiye, Bosna'da daha fazla kan dokiilmesini 6nlemek igin
uluslararasi kuruluslarin harekete gecirilmesinde etkin bir rol
oynamistir.

A) Turkey has played an active part in the mobilisation of international
organisations to prevent further bloodshed in Bosnia.

B) To prevent further bloodshed in Bosnia, Turkey should urge various
international organisations to interfere.

C) The interference of various international organisations in Bosnia,
mobilised by Turkey, has helped to prevent further bloodshed.

D) Further bloodshed occurred in Bosnia despite the efforts made by
Turkey and various international organisations to prevent it.

E) The role Turkey played in mobilising various international
organisations to prevent further bloodshed in Bosnia had positive
results.
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1993 Mayis

Sismanligin baska bir nedeni, suyun viicut
dokularinda tutulmasidir.

A) The retention of water in the body tissues, moreover,
will cause overweight.

B) In cases of overweight, too much water is retained by
the body tissues.

C) Another cause of overweight is the retention of water
in the body tissues.

D) Overweight also causes the body tissues to retain
more water.

E) The heavier a person is, the more water is retained in
the body tissues.



1993 Mayis

Sismanligin baska bir nedeni, suyun viicut
dokularinda tutulmasidir.

A) The retention of water in the body tissues, moreover,
will cause overweight.

B) In cases of overweight, too much water is retained by
the body tissues.

C) Another cause of overweight is the retention of water
in the body tissues.

D) Overweight also causes the body tissues to retain
more water.

E) The heavier a person is, the more water is retained in
the body tissues.



Onceki banka muidiiriiniin kisisel sorunlar bile
basinda manset olmustu.

A) The bank manager was horrified that his personal
problems made the headlines.

B) Previously, it was the bank manager’s personal
problems that made the headlines in the press.

C) Indeed, that was before the bank manager’s personal
problems made the news.

D) The former bank manager’s personal problems even
have hit the headlines in the press.

E) Prior to this, no bank manager’s personal concerns
have received such treatment in the press.
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Basit bir sekilde ifade etmek gerekirse, bayilma beyne
giden kanda gecici bir azalmadan meydana gelir.

A) To put it simply, fainting is due to a temporary shortage
in the blood going to the brain.

B) In plain words, fainting occurs when blood supply to
the brain is insufficient.

C) Quite simply, when the brain’s blood supply is
interrupted, fainting results.

D) Fainting can be treated, quite simply, by increasing the
amount of blood going to the brain.

E) To be concise, fainting leads to a reduction in the
amount of blood going to the brain.
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Baska yerde bazi mallar daha ucuz oldugu halde, sunduklari
hizmet icin belli bir magazaya gitmeye devam ettiginiz hi¢ oldu
mu?

A) Have you ever continued to go to a particular shop because of the

service they provide even though certain goods are cheaper
elsewhere?

B) Why continue to go to a particular shop because you like the service
if certain goods are cheaper elsewhere?

C) Would you keep on going to special shop with good service if you
could get certain goods elsewhere for less money?

D) Do you have to pay more for goods in the shops which offer
particularly good service?

E) Do you continue to go to that particular shop with the good service
even though certain goods are cheaper elsewhere?
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Aslinda toplantidaki sosyal hizmetler uzmanlarinin ¢ogu, iilkenin
gencleri arasinda alkol sorununun giderek artmakta oldugu
gorusiunde.

A) According to the social workers at the meeting, it is the drink
problem of the young that is on increase.

B) Actually the growing drink problem among the young people of the
country was the main reason for the meeting of the social workers.

C) Obviously, most social workers at the meeting believe that if the
country’s young people go on drinking, this will create a problem.

D) The fact that there is a drink problem among country’s young

people was in the eyes of the social workers the real reason for the
meeting.

E) In fact, most of the social workers at the meeting are of the opinion

that the drink problem among the country’s young people is on the
increase.
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Genellikle daha yuksek bir faiz oraninin uzun vadeli
tasarruflar icin cazip oldugu dogrudur.

A) On the whole, a higher rate of interest attracts more
long-term savings.

B) It is generally true that a higher rate of interest is
attractive for long-term savings.

C) It is generally agreed that the higher the interest rates,
the more long-term savings there will be.

D) Long-term savings are usually attractive because of the
higher interest rates.

E) It’s obviously true that higher interest rates must be
used to attract long-term savings.
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Kuyruklu yildizlar, hala, zaman zaman muhtesem bir
goruntli veren esrarengiz cisimlerdir.

A) The mystery of why comets are so spectacular has still
to be solved.

B) Comets will continue to provide a magnificent but
unexplained spectacle at regular intervals.

C) Comets are still enigmatic objects which, from time to
time, produce a spectacular sight.

D) The mystery surrounding comets is in part dependent
on their magnificent appearance.

E) The splendid appearance of the comet contributes
even more to its mysterious nature.
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Glivenlik Konseyi, korfezdeki durumun diizeltilmesi i¢in gerekli
veni onlemleri tartismak lizere acilen toplantiya cagrildi.

A) The members of the Security Council will attend the meeting since
new measures are essential if the crisis in the Gulf is to be
overcome.

B) Unless the situation in Gulf improves, the Security Council will have
to meet to work out new measures immediately.

C) The Security Council met to find ways of smoothing out the
situation in the Gulf as quickly as possible.

D) The Security Council has been urgently called for a meeting to
discuss the new measures needed for the improvement of the
situation in the Gulf.

E) The Security Council has agreed that a new meeting should be held
immediately to discuss new ways of improving the situation in the
Gulf.
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Oniimiizdeki yillarda, simdi tam olarak anlasilamayan pek
cok hastalik, kesinlikle daha etkili bir bicimde tedavi
edilecektir.

A) In future, even little known diseases will certainly be more
effectively treated.

B) In the years ahead, many diseases now imperfectly
understood will certainly be treated more effectively.

C) From now on, diseases that are perfectly understood will
be treated with more care.

D) Years hence, most diseases will be better understood and
treated more effectively.

E) In the years ahead, a better understanding of many
diseases will obviously lead to better treatment.
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Ronesans’la birlikte, dustinurler kendilerini kilisenin
tahakkiimiinden kurtarmaya ve boylelikle diinyayi tarafsiz bir
bicimde incelemeye baslad..

A) Thinkers studied the world objectively in the Renaissance when the
Church wasn’t dominant any longer.

B) The Renaissance enabled thinkers to escape the domination of the
Church and study the world independently.

C) With the Renaissance, thinkers began to free themselves from the
domination of the Church and study the world independently.

D) During the Renaissance thinkers were free to study the world
objectively as the Church was no longer dominant.

E) In Renaissance times, since the Church was no longer dominated the
world, people began to think more objectively.
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1993 Kasim

Ahlak degerlerindeki ¢okus, daima toplumda
yozlasmaya yol agar.

A) When a society is really decadent it ignores moral
Issues.

B) A decadent society always disregards immoral
behaviour.

C) A decline in moral values invariably leads to decadence
In society.

D) Moral issues lose importance when a society is truly
decadent.

E) The decadence of a society is apparent in the absence
of moral standards.
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Aleyhinde kanitlar kesin olmadigi icin muhtemelen
beraat edecek.

A) He will naturally be detained if the evidence against
him is conclusive.

B) He is likely to be acquitted though the evidence against
him is not conclusive.

C) If the evidence against him had been conclusive he
would have naturally been detained.

D) His acquittal seems likely though there is plenty of
conclusive evidence against him.

E) He will probably be acquitted since the evidence
against him is not conclusive.
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Halkin onaylamamasina ragmen, yesil kusak icinde
iskana izin verilmektedir.

A) In spite of public disapproval, housing is being
permitted within the green belt.

B) If the public had not shown its disapproval, housing
might have been permitted in the green belt.

C) Housing in the green belt is subject to public approval.

D) The housing scheme for the green belt is dependent
upon public approval.

E) There will be no housing on the green belt as this has
met with so much public disapproval.
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Barajin insaati ile ilgili sozlesmeyi imzalamadan once
bir avukata danismasi gerekirdi.

A) He ought to consult his lawyer before signing a
contract for the construction of the dam.

B) He should have consulted a lawyer before signing the
contract for the construction of the dam.

C) The contract for the construction of the dam will have
to be drawn up by a lawyer.

D) His lawyer advised him on the drawing up of a contract
for the construction of the dam.

E) His lawyer would have advised him to sign the contract
concerning the construction of the dam.
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Ne istersen soyle, gercekten sert 6nlemler almadikc¢a
ekonomik durgunlugu asmamiz miumkiin degildir.

A) As you say, with really strong measures we could get over
the economic recession.

B) Whatever anyone says, the only way to get over the
economic recession is by firmly cutting back expenditure.

C) In spite of what you have said, we shall never get over the

economic recession unless really strong measures are
taken.

D) Say what you like, we can’t possibly get over the economic
recession without taking really drastic measures.

E) As you’ve pointed out, we’ll never stop the economic
recession unless we take some really drastic measures.
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Onun gibi hirsh birinin boyle bir baskiya boyun egmesi
pek olasi degildir.

A) It’s hardly likely that someone as ambitious as he is will
yield to such pressure.

B) | can’t imagine, anyone with his forceful character
vielding to pressure of that sort.

C) Anyone as ambitious as that would never be able to
yield to pressure.

D) It’s really not possible to make such ambitious people
yield to pressure.

E) It would be almost impossible to put enough pressure
on someone as forceful as he is to make him yield.
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Kusatmanin bir yili askin bir siiredir devam etmesine
ragmen teslim olmamaya kararlilar.

A) Even if the siege had continued for more than a year
they would never have agreed to surrender.

B) If the siege goes on for a full year they will be bound to
surrender.

C) Even though the siege has been going on for over a
year, they are determined not to surrender.

D) They were determined not to surrender until they had
endured the siege for almost a year.

E) Their determination not to surrender failed when the
siege had gone on for over a year.
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Satislardaki ani dlisiis sonucu iflasa dogru suruklendigini
en yakin dostlari bile anlayamadi.

A) It was only his closest friends who realised that he was
heading for bankruptcy with this sharp fall in sales.

B) Even his very close friends did not realise that, following a
sharp fall in sales, he was heading for bankruptcy.

C) His close friends should have realised that the sharp fall in
sales could lead to his bankruptcy.

D) His close friends even warned him that a sharp fall in sales
could lead to bankruptcy.

E) Even his close friends ignored the fact that he was on the
edge of bankruptcy when sales dropped so low.
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Benim tavsiyemi goz ardi edip, kendi sezgilerine giivenerek, tim
kazancini ¢ok iyi taninmayan sirketlerin hisse senetlerine yatirdi.

A) She behaved impulsively and, contrary to my advice, invested all her
winnings in the shares of some little-known companies.

B) Instead of disregarding my advice and trusting her intuition she
would have invested her earnings in these little known companies.

C) My advice was in line with her intuition, so she invested her
winnings in the shares of some well-known companies.

D) | advise her to invest her earnings in the shares of some well-known
companies but she was against this.

E) Disregarding my advice but trusting her intuition, she invested all

her earnings in the shares of companies that are not very well
known.
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Personel gelistirme projesi ile ilgili olarak yonetim kurulu hangi karan
alirsa alsin, projenin basarisini tayin edecek olan, ayrilan para miktaridir.

A) The executive committee realises that the success of the staff

development scheme really depends upon the amount of money they can
allocate to it.

B) Whatever decision the executive committee may take as regards of the
staff development scheme, it is the amount of money allocated that will
determine its success.

C) Whatever decision they reach, the executive committee will allocate the
staff development scheme an adequate amount of money to ensure the
success.

D) The success of the staff development scheme will depend on the amount
of money the executive committee allocates to it.

E) However much money is allocated to the staff development scheme, this
does not, as the executive committee knows, guarantee its success.
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1994 Mayis

Dunyadaki pek ¢cok havayolunun tersine, "Blue Air" bu

yil kar etmeyi gercekten basarmistir.

A) Unlike many of the world’s airlines, "Blue Air" has actually
managed to make a profit this year.

B) "Blue Air" is just one of the world airlines which has
managed to make e substantial profit this year.

C) Very many of the world's airlines have, unlike "Blue Air",
managed to make a good profit, this year.

D) Even though there are so many world airlines "Blue Air"
has still managed to make a profit this year.

E) Contrary to what many world airlines have inferred, "Blue
Air" really has made a profit this year.



Akdeniz lilkelerindeki uyusturucu kacakcihig ile ilgili
raporunuzu sundunuz mu?

A) isn't your report concerning the drug trafficking across the
Mediterranean due in yet?

B) Have you submitted your report concerning the drug
trafficking in the Mediterranean countries yet?

C) Has your report on drug traffic to be submitted for
consideration to the Mediterranean countries?

D) Haven't you been asked yet by the Mediterranean
countries to submit a report on drug traffic?

E) Hasn't the subject of drug traffic in the Mediterranean
countries been included in your report?



Rehinelerin baslangi¢ta korkuldugu kadar kot
muameleye tabi tutulmadigi anlasiliyor.

A) Everyone presumed that the hostages would be badly
treated and at first they were.

B) Apparently the first fear of the hostages was that they
would be badly treated.

C) It seems that the bad treatment of the hostages did not
continue as at first they feared It would.

D) The hostages seemed to be afraid but actually they were
not ill-treated.

E) It would seem that the hostages were not so badlytreated
as was feared at first.



Baskan yillik toplantiyi a¢is konusmasinda

harcamalarda kesinti yapilmasi geregini vurguladi.

A) In his opening speech at the annual conference, the
chairman will discuss ways of curtailing expenditure.

B) The chairman stressed at the annual conference that
ways to reduce expenditure would have to be considered.
C) In his opening address at the annual conference, the
chairman stressed the need to cut down on expenditure.
D) The emphasis the chairman gave to cutting down on
expenditure was well received at the annual conference.
E) The expenses of the annual conference, maintained the
chairman in his speech, would have to be reduced.



Onun gorusune gore, 6zel sektor gelismek icin daha

cok rekabete ihtiya¢c duymaktadir.

A) His view is that the need of the private sector for
competition has been over-rated.

B) He reckons that it is the keener competition that makes
the private sector flourish.

C) His argument is that there should be more competition
from the flourishing private sector.

D) The private sector, he thinks, needs more competition to
flourish.

E) The private sector, in his opinion, has done well because
it faces constant competition.



Tam Avrupa’nin siyasi birlige dogru gittigi sirada,
ekonomik politika ile ilgili ¢esitli supheler ortaya ¢ikti.
A) Various doubts regarding economic policy surfaced and
prevented the political unification of Europe.

B) Before the political unity of Europe can be really
achieved, doubts regarding economic policy must be
overcome.

C) Just when Europe was heading towards political unity,
various doubts regarding economic policy came to the
surface.

D) If Europe could have achieved political unity, doubts
regarding economic policy would not have emerged.

E) If only Europe could have achieved political unity,
economic unity would, doubtless, have followed easily.



Baslangicta isi Ustlenmede tereddiit ettiyse de simdi

kabul ettigi icin memnun.

A) At first he found the work worrying; now, however, he is
enjoying it.

B) Even though he was reluctant at first to take on the job,
he is now pleased he accepted.

C) Now he admits that the work is enjoyable, but to start with
there were a lot of problems.

D) He accepted the job cheerfully though he knew it entailed
a great many problems.

E) If he had known at the start what the job entailed, he
would not have accepted it so willingly.



Faiz oranlarindaki artisa ragmen kardesim bankadaki
hesabini kapatti; ben de dyle yaptim.

A) Following the rise in interest rates my brother has
withdrawn money from his bank account, and so have I.

B) Since my brother closed his account at the bank, | did
too, even though interest rates are high.

C) As interest rates have risen both my brother and | have
opened an account at the bank.

D) Unless there had been a rise in interest rates my brother
would have closed his account at the bank and so would

.

E) Despite a rise in the interest rates, my brother has closed
his account in the bank, and so have |.



Basari olasiligi bu kadar diistik bir projeye yatirim
vapmak icin herhalde onun ¢ok iyi bir nedeni vardir.

A) He must have invested in the scheme without realising
that there was little likelihood of its succeeding.

B) The scheme has so little chance of success that he
couldn't have thought seriously about investing in it.

C) It is not easy to find people to invest in a project which
has so little chance of success.

D) He must have had a very good reason for investing in a
scheme which has so little likelihood of success.

E) He couldn't have had a good reason for investing in a
scheme with so slight a chance of succeeding.



Sirketin iflas nedenleri ile ilgili olarak gazeteler ne

derse desin, ben hala bunun kag¢inilmaz oldugu
goriisindeyim.

A) No matter what the newspapers are saying about the
causes of the firm's bankruptcy, | still maintain that it was
inevitable.

B) Let the newspapers say what they want about the
reasons for the firm’s bankruptcy, | still say it needn't have
happened.

C) In spite of what the newspapers are saying, | still maintain
that the firm cannot avoid bankruptcy.

D) I still maintain that bankruptcy was inevitable once the
newspapers began talking about the firm in that way.

E) In my opinion the reason for the firm's going bankrupt is
the way the newspapers wrote about its affairs.



Seyirci onlara sunacaginiz seyin ilging

olacagina inanmall.

A) It is interesting that the audience took
everything on trust.

B) The audience is quite convinced that they are
going to see something interesting.

C) What you are offering the audience has got to
be interesting.

D) What the audience is being offered promises
to be interesting.

E) The audience has to believe that what you are
going to offer is going to be interesting.



Hem, son s6z neden elestirmenin olsun ki?
A) Besides, the critic gets his say last, doesn’t
he?

B) Even so, why can’t the critic have the last
word?

C) Indeed the last word should be the critic’s,
shouldn’t it?

D) Why, after all, should the critic have the last
word?

E) Nevertheless, won’t the last voice be the
critic’s?



Cevre sorumlulugu olmaksizin ekonomik
gelisme olamaz.

A) There can be no economic development in
the absence of environmental responsibility.
B) Economic development surpasses
environmental responsibility.

C) Being environmentally conscious leads to
improved economic development.

D) In the absence of economic development,
environmental responsibility is unthinkable.
E) Being environmentally conscious is preferable
to attaining economic development.



Gelecek ylizyil, Avrupa’da bugiin

oldugundan 20 milyon daha az insan olacak.

A) By the next century the population of Europe
will drop to twenty million.

B) In the next century there will be twenty million
fewer people in Europe than today.

C) Between now and the end of the century, the
number of people in Europe will drop by

twenty percent.

D) During the next hundred years the population
of Europe will increase by twenty million.

E) A hundred years from now there will be less
than twenty million people in Europe.



Doktor bir hastaligi ne kadar isabetle

teshis edebilirse, tedavi de o kadar etkili olur.
A) It is more important for a doctor to diagnose
accurately than to find the most effective
treatment.

B) The doctor who makes the most accurate
diagnosis is not always the one who gives the
most effective treatment.

C) The more accurately the physician is able to
diagnose an illness, the more effective the
treatment will be.

D) However accurate a physician’s diagnosis of
an illness may be, it is still the treatment that
is important.

E) The efficiency of a physician shows more in
his diagnosis of an illness than in the
treatment of it.



Bu kadar ¢ok yolculuk gerektiren bir ise

sahip olmanin nasil bir sey oldugunu bir
tasavvur edin!

A) Just imagine what it must be like to have a job
that requires such a lot of travelling!

B) Try to imagine having a job which allows one
to do so much travelling!

C) | can’t imagine anything worse than having a
job that entails so much travelling!

D) Just think how much travelling would be
necessary in a job of that sort!

E) Wouldn’t it be wonderful to have a job that
gave one so much opportunity for travel!



1985 ile 1989 arasinda, pek ¢ok iilkede kisi
basina besin maddesi liretimi diistd.

A) From 1985 to 1989 very many countries were
affected by the drop, per capita, in food
production.

B) In 1985 and 1989 food consumption per
capita dropped in very many countries.

C) Between 1985 to 1989 food production per
capita dropped in very many countries.

D) With the drop in food production between
1985 to 1989 people in very many countries
suffered.

E) The drop in the average food consumption of
the people in very many countries continued
from 1985 to 1989.



Binlerce insan éldurildi ve on binlerce
siginmaci koylerinden baskente kagti.

A) The death of thousands of people was
followed by the flight of ten of thousands of
refugees from the capital to the villages.

B) Thousands of people were killed and tens of
thousands of refugees fled from their villages
to the capital.

C) Thousands died and tens of thousands left the
capital to settle in the villages as refugees.

D) Thousands of refugees who fled from the
villages died on their way to the capital.

E) Thousands of people were killed in the
villages but tens of thousands died in the
capital.



Bu yuizyil ilk kez savas veya ekonomi

disinda bir konuyu tartismak lizere bir zirve
konferansi toplanacak.

A) For the first time this century, a summit
conference will convene to discuss an issue
other than war or the economy.

B) The first summit conference to convene this
century discussed neither war nor the

economy.

C) For the first time in a hundred years a summit
conference is meeting to discuss economy,

not war.

D) Summit conferences this century have
avoided primary issues related to war and
economy.

E) The first summit conference of the century will
convene to discuss neither war nor the
economy.



Gelismekte olan iilkeler adeta Bati’'nin

onlari sanayilesmenin sonuglarindan
kurtarmasini bekliyor.

A) Consequently, the developing countries of the
West were not hurt by industrialisation.

B) Apparently the West expects it will have to
protect developing countries from the dangers
of industrialisation.

C) The developing countries will obviously be
spared some of the problems of
industrialisation that the West had to face.

D) The results of industrialisation have been
more apparent in the West than in the
developing countries.

E) It is as if developing countries expect the
West to save them from the consequences of
industrialization.



1995 Mayis

Miisterinin ne istedigini 6grenmek her
seyden onemlidir.

A) What we really need to know is what the
customer is looking for.

B) The main difficulty was to find out just what
the customer was in need of.

C) Finding out what the customer wants is more
important than anything else.

D) Our main concern should have been to find
out just what the Customer wanted.

E) You must find out what the customer wants;
nothing else matters.



Gelecek, elleri yerine kafalarini kullanan
insanlarindir.

A) People who use their brains more than their
hands are going to control the future.

B) In the future people will use their brains rather
than their hands.

C) It's our heads not our hands that are going to
be important.

D) The future belongs to people who use their
heads instead of their hands.

E) In future people will have to learn to use their
hands rather than their reason.



Oraya kim once ulasirsa onun buyuk bir

avantaj saglayacagindan soz ettiginizi
hatirlhyorum.

A) | remember you saying that whoever gets
there first will have a major advantage.

B) | am reminded of what you said about this
being their first major advantage.

C) I'm sure you said that the first to get there had
a major advantage.

D) | remember you saying that it would be their
first real advantage.

E) You will remember that getting there first gave
them a real advantage.



Ozon tabakasi ne kadar incelirse o kadar

¢ok miktarda kanser yapici morétesi isin
diinyaya ulasir.

A) Should the ozone layer continue to get
weaker even more cancer making ultraviolet
rays will reach the earth.

B) If the ozone layer gets any thinner the cancer
making ultraviolet rays will reach the earth
even faster.

C) The thinner the ozone layer gets, the more
cancer making ultraviolet rays reach the earth.
D) As the ozone layer got thinner, more cancer
forming ultraviolet rays began to reach the
world.

E) The more cancer forming ultraviolet rays there
are in the world the less effective will be the
role of the ozone layer.



Avrupa'da igsizlik yeniden yiizde onun
tizerine ¢ikiyor ve diisecekmis gibi de
gorunmiiyor.

A) Unemployment in Europe is again rising
above ten per cent and doesn't seem likely to
drop.

B) Once more the unemployment figures for
Europe are above the ten per cent mark and
may go higher.

C) Unemployment in Europe has gone up a
further ten per cent and the position is not
likely to change.

D) No one expects the unemployment figures in
Europe will drop below ten per cent.

E) A drop to just above ten per cent in
unemployment figures in Europe didn't seem
very likely.



Diyelim ki bu sairler bir yayinci buldular;
bugtlin bir okur kitlesi bulabilirler miydi?

A) If these poets were to find a publisher, who
would ever read them today?

B) Supposing that these poets did find a
publisher, could they find an audience today?
C) As they still haven't been able to find a
publisher do you think their poems are worth
reading?

D) Who would read these poems today even if
they did publish them?

E) Don't you think these poets would find an
audience once they get their poems
published?



iscileri korumay1 amaglayan bir sistem,
bunun yerine, milyonlarcasinin ¢alismasini
engelledi.

A) Those responsible for laying off so many
million workers are asking for protection.

B) The system is expected to protect the
workers, not throw millions of them out of
work.

C) Since millions of workers are out of work
some way of protecting them must be found.
D) The plan to protect these millions of
unemployed workers couldn't be put into
effect.

E) A system that aims at protecting workers has
instead barred millions of them from working.



Tarihsel romanin ne oldugu ya da ne

olmasi gerektigi tizerinde bir goriis birligi bile
yok.

A) Everyone agrees that this historical novel is
not what it ought to be.

B) There really ought to be some sort of
agreement as to what a historical novel is or
ought to be.

C) No one seems to agree about what a
historical novel ought to be, not even about
what it is.

D) There is not even a consensus on what a
historical novel is or ought to be.

E) There is no agreement as to what a historical
novel should and could be.



Her iki taraf icin de kendi kararlarinin
sonuclarini kabul etmek zor olacak.

A) Neither side was willing to admit that the
consequences were the natural results of their
own decisions.

B) Both sides found it difficult to foresee the
results of their decisions.

C) It would have been easier if either side had
stuck by its decision.

D) The consequences turned out to be far from
pleasant for both sides.

E) It will be difficult for both sides to accept the
consequences of their own decisions.



lyi yazarlarin iyi kitap, kotii yazarlarin kétii
kitap yazdigini soylemek yeterli degil.

A) It is not enough to say that good writers write
good books and bad writers write bad books.
B) Good books are not always written by good
writers nor are bad ones necessarily written

by bad writers.

C) It's usually necessary to remember that even
good writers can produce rather poor books.

D) It's usually safe to say that the more books a
writer produces the better they will be.

E) There are not enough good books and good
writers but too many bad books and bad
writers.



1995 Kasim

35. Bu roman, aslinda son derece ilging olan
ana tema yeterince gelistirilmemis oldugu igin
basarisizdir.

A) The central theme is, in fact, interesting and
by developing it suitably the novel could’ve
succeeded.

B) This novel fails to satisfy because the main
theme which incidentally could be quite
interesting is not properly developed.

C) The novel’s central theme, though adequately
developed fails to hold the attention of the
reader.

D) This novel fails because the main theme
which is in fact extremely interesting has not
been adequately developed.

E) As the main theme has not been satisfactorily
developed the novel cannot hold one’s

interest for long.



Bazi liyeler sorunlarini baskana diismanca
bir tavir icinde yonelttiler ve bu da dogal
olarak onu telasa distirdu.

A) The manner in which these few hostile
members asked their questions was designed
to disconcert the chairman.

B) The manner in which some members
addressed their questions showed their
hostility and naturally the chairman lost
confidence.

C) The chairman grew apprehensive when the
guestions put to him showed the hostility of
the members.

D) The hostility of a few of the members became
apparent when they asked the chairman very
disconcerting questions.

E) Some members put their questions to the
chairman in a hostile manner and this
naturally unnerved him



Eski belediye baskaninin parti

politikasinda oynadigi rol ile ilgili olarak son
yillarda basin-yayinda pek ¢ok sagcmalik yer

aldi.

A) Until recently the part the late mayor played in
party politics was regarded as nonsense by

the media.

B) Recently the role the ex-mayor played in party
politics has been unreasonably played up by

the media.

C) In recent years a great deal of nonsense has
appeared in the media about the role the exmayor
played in the party politics.

D) Outside the media, the late mayor’s role in
party politics was rarely treated seriously.

E) The media appeared to ridicule the role
recently played by the ex-mayor in party

politics.



Tiim diinyada sag ve sol partilerin

politikalari arasinda 6nemli bir yakinlagma
oldugu raporda agik¢a goriilmektedir.

A) It is obvious from the report that throughout
the world, there has been a significant
convergence in the policies of right- and leftwing
parties.

B) The convergence throughout the world in
policy between right- and left-wing parties is

the overriding conclusion of the report.

C) In the report it is emphasised that there is now
a remarkable similarity between right- and leftwing
policies.

D) Everywhere in the world, as the report so
officiously points out, left-wing and right-wing
policies hardly differ at all.

E) From all over the world come reports on
merging of the left-wing and right-wing

political parties.



Miilakatta sorulara verdigi cevaplardan
delikanlinin gergek ilgisinin rakamlara degil
kelimelere oldugu anlasild.

A) At the interview the young man answered the
guestions in such a way that it was soon

obvious he ought to work with words, not with
figures.

B) From the way he answered the questions at
the interview it soon became clear that the
young man’s real bent lay in words and not in
figures.

C) The young man showed at the interview that
his real bent lay not in figures but in words.

D) At the interview we soon saw, as he dealt with
the questions, that the young man has a gift

for words but not for figures.

E) The interview made it quite clear that the
young man had mastered the art of using

words as well as figures.



Hi¢ kimse hissedarlarin biiyiik bir

¢ogunlugu tarafindan segilmis olan yeni
baskanin sirket yapisinda bu denli kdkli
degisiklikler yapacagini beklemiyordu.

A) Though he introduced so many radical
changes into the set-up of a company, a large
majority of the shareholders voted to make
him president.

B) Nobody guessed that, by making such radical
changes in the administrative structure of the
company, he would win the vote of the
majority of the shareholders and become the
president.

C) Nobody expected the new president, who had
been elected by a vast majority of
shareholders, to make such radical changes
in the structure of the company.

D) No one thought he would win so much
support from the shareholders and president,
since he had made so many radical changes
in the company structure.

E) The company administration is expected to
undergo much radical change now that the
shareholders have shown their overwhelming
support of him and made him president.
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Deneyimlerine dayanarak konusan babasi,

ona, hep geriye bakmakla ve gegmisten

pisman olmakla higbir seyin

kazanilamayacagini soyledi.

A) Experience had taught his father that to regret
the past would never be to gain from it.

B) His father told him that in his experience
something was to be gained by reviewing the
past but not by regretting it.

C) What was to be regretted, as his father
explained, was that nothing was gained

through this experience.

D) His father, speaking from experience, told him
that there was nothing to be gained by forever
looking back and regretting the past.

E) It was his fathers experience and regrets for
the past that he always spoke of .



Zayif gazeteler giiglilerle birlestigi igin,

bugiin Amerika’da yiizyil 6nce oldugundan
daha az gazete yayinlanmaktadir.

A) There are fewer newspapers being published
in America now than there were a century ago
because the weaker newspapers have

merged with stronger ones.

B) Since the smaller newspapers have joined
together to form larger ones, there are

actually fewer newspapers being published in
America than there were last century.

C) As the century goes on, more and more of the
big newspapers are taking over the small

ones so that fewer newspapers are being
published in America.

D) This century, the number of newspapers to be
published in America gets fewer as a lot of the
weaker ones merge with the stronger ones.

E) Most of the smaller newspapers are being
taken over by the bigger ones, so in present
day America fewer newspapers are being
published than was the case last century.



Yakin zamanlara kadar arastirmacilar

sigara igmek icin tek bir nedenin olmasi
gerektigini varsayiyorlardi ve bundan dolayi
once sigara igenlerle igmeyenlerle arasindaki
farkhhiklari aradilar.

A) Researchers have, until recent times,
concentrated on the reasons for smoking and
therefore overlooked the differences between
smokers and nonsmokers.

B) In recent times researchers have given much
attention to the differences between smokers
and nonsmokers in the hope of finding a
single reason for smoking.

C) On the assumption that there can be only one
reason for smoking, researchers have from
the start concentrated on the differences
between smokers and nonsmokers

D) It has only recently been appreciated by
researchers that the differences between
smokers and nonsmokers spring from their
attitude to smoking.

E) Until recently researchers assumed there
must be a single reason for smoking and
therefore looked first for differences between
those who smoked and those who did not.
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ikili goriismelerin temel amaci iki iilke
arasinda yeni imzalanmis olan bir baris
antlagmasinin uygulanmasina iliskin usulleri
tartismak ve belirlemekti.

A) The primary aim of the second stage of the
talks was to discuss and decide upon
procedures for implementing the terms of the
peace treaty newly signed between the two
countries.

B) The main purpose of the bilateral talks was to
discuss and determine the procedures
concerning the implementation of the peace
treaty newly signed between the two
countries.

C) The two countries will meet again to settle
upon methods of implementation that will be
agreeable to both sides once the peace treaty
itself has been signed.

D) Once the peace treaty between the two
countries has been signed, they can meet to
settle the major issues concerning the
implementation of the terms.

E) Once the peace treaty between the two
nations has been signed there will be bilateral
talks to discuss procedures regarding
implementation of the terms.
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1996 Mayis

1970'ten bu yana iilkenin hava ve su
kirlenmesini azaltmakta kaydettigi ilerleme
tartisilmaz.

A) One has to admit that the country has worked
hard since 1970 to check the pollution of air
and water.

B) During 1970s there was doubtless a great
reduction in the pollution level of air and water
in the country.

C) The country has certainly managed to bring
down the pollution levels in air and water from
what they were in 1970.

D) The country has been remarkably successful
in its efforts to bring down the pollution levels
from what they were in 1970.

E) The progress the country has made in
reducing air and water pollution since 1970 is
indisputable.



Her iki taraftaki sertlik yanhlari, glic

paylasimi yonuindeki tum girisimleri engelledi.
A) Hard-liners on both sides made determined
efforts to prevent any power sharing.

B) On both sides there are hard-liners to oppose
all efforts to share the power.

C) Hard-liners on both sides have blocked all
moves towards power sharing.

D) On both sides the redistribution of power was
opposed by hard-liners.

E) Any move towards a redistribution of power
would have been overruled by hard-liners of
either side.



Niikleer bilim ve teknolojinin gelismesinde
notron ¢ok 6nemli bir rol oynamistir.

A) As nuclear science and technology have
developed, the role of neutron has gained in
importance.

B) In the development of nuclear science and
technology the neutron has played a most
important role.

C) The importance of the neutron became
apparent as nuclear science and technology
developed.

D) As progress was made in nuclear science and
technology the importance of the neutron
become apparent.

E) The development of nuclear science and
technology was due to the important role
played by the neutron.



Fiyatlari karsilastirirken, nitelik gibi

niceligin de farklilik gosterebilecegini
hatirlamada yarar var.

A) One needs to be reminded that in comparing
prices, the quantity as well as the quality must
be considered.

B) When comparing prices one should remember
that both quality and quantity need to be
checked.

C) One should remember that prices can only be
compared when quantity as well as quality are
alike.

D) When comparing prices, it is worth bearing in
mind that the quantity may vary as well as the
qguality.

E) In comparing prices, variations in quantity and
in quality are of equal importance.



1712'de getirilen gazete vergisine ragmen,

18. yiizyilin sonlarina dogru Londra'da
yayinlanan gazete sayisi 53'e ¢cikmisti.

A) More then 53 newspapers were published in
London in the late eighteenth century in spite
of the tax on newspapers introduced in 1712.
B) By the end of eighteenth century, when the
newspaper tax of 1712 was removed, the
number of newspapers being published in
London rose to 53.

C) A tax was introduced on newspapers in 1712,
with a view to preventing a further increase in
newspapers but nevertheless there were 53

by the end of eighteenth century.

D) The number of newspaper published in
London in the late eighteenth century fell to 53
following the newspapers tax imposed in

1712.

E) Despite the newspaper tax introduced in
1712, the number of newspapers published in
London towards the end of the eighteenth
century increased to 53.



Bir cok ¢cagdasi gibi, Charles Dickens,
sanayilesmenin sonucu ortaya ¢ikan
toplumsal sorunlari ele almistir.

A) Many of the contemporaries of Charles
Dickens also gave expression to the social
problems that resulted from industrialisation.
B) Like many of his contemporaries, Charles
Dickens dealt with the social problems
brought about by industrialisation.

C) Like so many of his contemporaries, Charles
Dickens tried to ease the social problems
arising from industrialisation.

D) The social problems that came with
industrialisation were the main concern of
Charles Dickens and his contemporaries.

E) Charles Dickens and many of his
contemporaries wrote about industrialization
and the social issues involved.



Simdiki yerine 1588'de taginmis olan Roma
Vatikan Kiitiiphanesi'nin bugiin, Avrupa'nin en
biiyiik kutiiphanelerinden biri oldugu kabul
edilir.

A) One of the largest libraries in Europe today is
undoubtedly that of the Vatican in Rome,

which has been in existence since 1588.

B) Today it is generally agreed that the Vatican
Library of Rome, which has been in its

present premises since 1588, is one of

Europe's oldest libraries.

C) The Vatican Library of Rome, which moved to
its present premises in 1588, is accepted to be
one of the greatest libraries of Europe today.

D) It is generally agreed that the Vatican Library
in Rome, which was moved to its present
premises in 1588, is Europe's greatest library.

E) Of all the libraries in Europe today, the
Vatican Library of Rome dating back to 1588

is, by general consent, the greatest.



Viktorya g¢aginin 6nde gelen bir romancisi
olan Thackeray, kisilerin erdem ve kusurlarinin
anlatiminda miimkiin oldugu kadar gergekgi
olmayi amagladi.

A) Thackeray was a leading novelist of the
Victorian age, for he depicted the vices and
virtues of ordinary people truthfully.

B) The novelist Thackeray, writing in Victorian
times, described people's virtues and vices
with remarkable accuracy.

C) Thackeray was one of the Victorian novelist to
depict in a really truthful manner the virtues
and the failings of ordinary people.

D) Thackeray was the first of the Victorian
novelist to concern himself with accurate
accounts of people's virtues and shortcomings
in everyday action.

E) Thackeray, a leading novelist of the Victorian
age, aimed to be as truthful as possible in his
description of people's virtues and
shortcomings.



1925 yilinda imzalanan Locarno
Antlagsmasiyla, Almanya, Fransa ve Belgika,
mevcut sinirlarini korumayi ve birbirlerine
karsi gli¢ kullanmaktan kaginmayi taahiit
etmislerdi.

A) With the Treaty of Locarno, signed in 1925,
Germany, France and Belgium undertook to
maintain their existing frontiers and abstain
from the use of force against each other.

B) In the Treaty of Locarno, signhed in 1925, it
was stipulated that Germany, France and
Belgium should maintain their existing
frontiers even if they had to resort to force to
do so.

C) Germany, France and Belgium signed the
Locarno Treaty in 1925, so the frontiers were
maintained without having to resort to force.
D) The Treaty of Locarno, signed in 1925, was
an effort to settle the frontiers of Germany,
France and Belgium without resorting to force.
E) The present day frontiers between France,
Germany and Belgium date from 1925, when
the treaty of Locarno was signed to end the
use of force between these countries.
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"Sanat" sozciigi cogu kez "plastik" ve

"gorsel" olarak tanimlanan sanatlara iliskin
olarak kullanilir, ancak bu sozciik aslinda
edebiyat ve mizigi de igerir.

A) Besides the "plastic" or "visual" arts, which it
usually refers to, the word "art" can also be

used with reference to literature and music.

B) The word "art" should not be restricted to the
"plastic" or "visual" arts for it also includes
literature and music.

C) The word "art" is usually used in association
with the arts defined as "plastic"” or "visual",

but in fact it also includes literature and music.
D) Literature and music are often included in the
word "art" but the term should be used only in
association with plastic or visual arts.

E) Though they are neither "plastic" nor "visual",
literature and music are also forms of "art".



1996 Kasim

Segilen strateji ne olursa olsun, amaglari
o6nyargih siyasal uygulama ve diigiinceyi
degistirme oldugunda, feministlerin
miittefiklere ihtiyaci olacaktir.

A) If the feminists are to change prejudiced
political practice and thought they will need
more than a sound strategy and staunch

allies.

B) Whatever the choice of strategy open to them,
when their aims was to change prejudiced
political practice and thought, the feminists
couldn’t manage without allies.

C) In spite of the choice of strategy, the feminists
found plenty of supporters when their goal

was to change prejudices political practice

and thought.

D) Regardless of the strategy chosen, feminists
will need allies when their goal is changing
prejudiced political practice and thought.

E) Good allies and careful planning alone are not
enough to give feminists a victory in their
efforts to change prejudiced political practice
and thought.



Kusatma bir yili askin bir stiredir devam
etmesine ragmen, teslim olmamaya kararlilar.
A) Even if the siege had continued for more than
a year they would never have agreed to
surrender.

B) If the siege goes on for a full year they will be
bound to surrender.

C) Even though siege has been going on for over
a year, they are determined not to surrender.

D) They were determined not to surrender until
they had endured the siege for almost a year.

E) Their determination not to surrender failed
when the siege had gone on for a year.



Satislardaki ani diisiis sonucu iflasa dogru
suriiklendigini en yakin dostlari bile
anlayamad..

A) It was only his closest friends who realised
that he was heading for bankruptcy with this
sharp fall in sales.

B) Even his very close friends did not realise that
following a sharp fall in sales he was heading

for bankruptcy.

C) His close friends should have realised that the
sharp fall in sales could lead to his

bankruptcy.

D) His close friends even warned him that a
sharp fall in sales could lead bankruptcy.

E) Even his close friends ignored the fact that he
was on the edge of bankruptcy when sales so
low.



Benim tavsiyelerimi goz ardi edip kendi
sezgilerine giivenerek, tiim kazancini ¢ok iyi
taninmayan sirketlerin hisse senetlerine

yatirdi.

A) She behaved impulsively and, contrary to my
advice, invested all her winnings in the shares

of some little known companies.

B) Instead of disregarding my advice and trusting
her intuition she should have invested her
earnings in this little known companies.

C) My advice was in line with her intuition, so she
invested her winnings in the shares of some
well-known companies.

D) I advise her to invest her earnings in the
shares of some well-known companies but

she was against this.

E) Disregarding my advice but trusting her
intuition she invested all her earnings in the
shares of companies that are not very wellknown.



Personel gelistirme projesi ile ilgili olarak
yonetim kurulu hangi karari alirsa alsin,
projenin basarisini tayin edecek olan ayrilan
para miktandir.

A) The executive committee realises that the
success of the staff development scheme

really depends upon the amount of money
they can allocate to it.

B) Whatever decision the executive committee
may take as regards the staff development
scheme, it is the amount of money allocated
that will determine its success.

C) Whatever decision they reach, the executive
committee will allocate the staff development
scheme an adequate amount of money to
ensure its success.

D) The success of the staff development scheme
will depend on the amount of money the
executive committee allocates to it.

E) However much money is allocated to the staff
development scheme, this does not, as the
executive committee knows, guarantee its
success.
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Ekonomiye “kasvetli bilim” denmesi

bosuna degil.

A) There is no good reason for calling economics
“the dismal science”.

B) Economics deserves to be called “the dismal
science”.

C) It was not for nothing that economics was
called “the dismal science”.

D) Economics has been labelled “the dismal
science” for no apparent reason.

E) The term “the dismal science” could better
have been applied to economics.



Kiigliik ve orta dlgekli sirketlerin giimriik
birliginden 6zellikle yararlanacaklarini belirtti.

A) In particular, he claimed, small and mediumsized
companies are hoping to benefit from

the customs union.

B) In his opinion, it is the small and the mediumsized
companies that are likely to benefit most

from the customs union.

C) As he pointed out, it has been the small not

the medium-sized companies especially that

have benefited from the customs union.

D) The customs union, he explained, aims to
benefit small to medium size companies in
particular.

E) He pointed out that small and medium-sized
companies would particularly benefit from the
customs union.



Fazla kilo kaybi kalbi yorar ve sizi ¢esitli
hastaliklara yakalanmaya ¢ok daha yatkin hale
getirir.

A) A variety of diseases can be traced back to
heart strain due to overweight.

B) The strain put on your heart by the extra
weight is responsible for these various
diseases.

C) The heart is adversely affected by too much
weight and various problems are almost
bound to appear.

D) Extra weight puts a strain on the heart and
makes you far more prone to a variety of
diseases.

E) Overweight causes strain on the heart and a
whole range of side effects will then appear.



Cogu insan gercekte gormek istedigini
resimlerde gormek ister.

A) The pictures most people like to see are
scenes from the real life.

B) Most people like to see in pictures what they
would like to see in reality.

C) As far as most people are concerned, pictures
are better than reality.

D) What we have in pictures is the reality most
people enjoy seeing.

E) Actually, what people see in pictures is not
what they generally see in reality.



Ulusal kosullar ne kadar uygun olursa

olsun, her sirket icin basari1 garantisi yoktur.
A) However favourable the national
circumstances, success for every company is
not ensured.

B) Even if the national circumstances had been
favourable, that company would hardly have
been successful.

C) For any given company to be successful, the
national circumstances have to be suitable.

D) There is no guarantee of success for any
company unless the national situation is ideal.
E) If the national situation had only been
conductive to success, such a company would
have been successful.



1997 Mayis

Sahara’nin yilda on kilometreye varan bir

hizla glineye dogru genislemekte oldugu
bilimsel olarak saptanmustir.

A) Recent scientific investigations have revealed
that the southerly movement of the Sahara
remains at under 10 kilometres per year.

B) There is scientific evidence to suggest that
the Sahara is expanding southwards at a rate

of roughly 10 kilometres a year.

C) The rate at which the Sahara is expanding
southwards has been scientifically established
as not exceeding 10 kilometres a year.

D) According to recent scientific data, the Sahara
is moving in a southerly direction at a rate just
under 10 kilometres a year.

E) It has been scientifically established that the
Sahara is expanding southwards at a rate of

up to 10 kilometres a year.



Makalede, diinya tahil liretiminin son

yillarda 6nemli dlglide diismeye basladigi
vurgulanmaktadir.

A) In the article it is emphasised that world grain
production has begun to fall substantially in
recent years.

B) From the article it is apparent that there has
been a substantial fall in the world grain
production in recent decades.

C) It should be emphasised in the article that
there has been a noticeable drop in world
grain production during the last few years.

D) According to article, a serious drop in world
grain production only began a few years ago.
E) It is pointed out in the article that the
substantial fall in the world grain production
has begun in recent times.



‘Gergekcilik’, elestiride kullanilan en

belirsiz kavramlardan biridir; ancak bu, onun
¢ok sik kullanilmasini engellemez.

A) ‘Realism’ is so vague a critical concept that it
should only be used infrequently.

B) ‘Realism’ is one of the vaguest concepts used
in criticism but that does not stop it from being
frequently used.

C) ‘Realism’ is a term that is frequently used in
criticism, but it is often wrongly used.

D) The vagueness of the term ‘realism’ means
that it is only infrequently used in a critical
context.

E) The term ‘realism’ is frequently used in
criticism but with only a vague concept of
what it actually means.



Aile ve akrabalik, genelde, ilkel veya
ilerlemis olsun tiim insan topluluklarinin temel
gergegidir ve binlerce yildan beri de hep dyle
olmustur.

A) In both primitive and advanced societies,
family and kinship, in general, have, for
thousands of years, been of basic importance.
B) For thousands of years now, the family and
relatives have generally been basic realities in
all human societies, both primitive and
advanced.

C) During the last thousand years or so, the
family, and kinship generally, have been
among basic realities of all human societies
whether primitive or advanced.

D) Until the last thousand years or so, in both
primitive and advanced societies, family and
kinship were usually regarded as basic
elements of human existence.

E) Family and kinship, generally, are basic
realities in all human societies, whether
primitive or advanced, and, have been so for
thousands of years.
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Gelismis tilkeler gok diisiik niifus artig

hizina sahip olsalar bile, bunlarin azgelismis
iilkelerdeki hizh niifus artisindan
etkilenmeyeceklerini séylemek ¢ok yanhs olur.
A) Even if there were a drop in the population
growth of developed countries one should not
say that the developing, with their rapidly
expanding populations, would be likely to be
affected by it.

B) Even supposing that the developed countries
had a very slight population growth, it wouldn’t
be fair to suggest that the rapid population
growth of underdeveloped countries couldn’t
affect them.

C) A very slight drop in the population growth of
developed countries means nothing in the

face of rapid increase in the populations of
developing countries.

D) Even though developed countries have a very
low rate of population growth, it would be
wrong to say that they will not be affected by
the rapid increase of population in
underdeveloped countries.

E) It has been wrongly suggested that the rapid
increase in the population of underdeveloped
countries will have no effect on the slight
decline in population in developed countries.
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Sitma tedavisinde kullanilan ilaglar son

derece 6nemli olsa da hastaliga neden olan
sivrisinegin kontrolii ok daha onemlidir.

A) However effective the drugs used in the
treatment of malaria may be, it is still
important to control the mosquito that causes
the disease.

B) Though the drugs used in the treatment of
malaria are extremely important, the control of
the mosquito, which causes the disease, is
even more so.

C) If the mosquito that causes malaria could be
controlled, the drugs used in its treatment
would cease to be important.

D) Since new drugs are extremely effective in the
treatment of malaria, there is less need now

to control the mosquito which carries the
disease.

E) Control of the mosquito which carries malaria
has proved far more effective than any of the
drugs that have been used in its treatment.



Bugiin yayinlanan raporda, diinyada
clizzamli 15 milyon insanin biiyiik
¢ogunlugunun tropikal iilkelerde yasadig
belirtiimektedir.

A) A report has been released today confirming
that there are 15 million people in the world
with leprosy, most of whom in tropical
countries.

B) In the report to be released today, it is
mentioned that there are 15 million people in
the world with leprosy, and most of these live
in tropical countries.

C) In the report released today, it is pointed out
that of the 15 million people with leprosy in
the world the great majority live in tropical
countries.

D) In a report to be published today it is
confirmed that of the 15 million lepers in the
world, a slight majority live in tropical
countries.

E) According to a report published today it
seems that of the 15 million lepers in the
world by far the majority are to be found in
tropical countries.
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insanlar, uygarligin dogusundan beri
gokyuziini incelemislerdir; ancak orada var
olanlarin biiyiik gogunlugu hala
bilinmemektedir.

A) People have studied the sky since the dawn
of civilisation, yet the bulk of what is out there
is still unknown.

B) If people had studied the sky throughout
civilised times, the bulk of what is out there
would now have been known.

C) People were studying the sky even before the
dawn of civilisation, but little was known about
what was out there.

D) A large portion of space remains unexplored
though man has been interested in it since the
dawn of civilisation.

E) The sky has been under observation ever
since civilisation began, but not much is

known about it.



Rapordan, gelecek yiizyilda diinyada kisi
basina diisen su miktarinda 6nemli dligiide
azalma olacagi agikg¢a anlagsilabilir.

A) One may conclude from the report that during
the next century, the average amount of water
consumed per head of the population in the
world will have to be reduced.

B) It is most clearly stated in the report that, in
the next century the drop in the amount of
water needed per head in the world will be
enormous.

C) The report makes it clear that, during the next
century, the amount of water available per
head in the world will hardly be adequate.

D) The report makes the point that, in the next
century, there will have to be a sharp drop in
the amount of water made available per head
of the population in the world.

E) It can be clearly understood from the report
that, during the next century, there will be a
considerable drop in the amount of water
available per head in the world.



Yonetim, yeni hisse senetlerinin, rayic

piyasa degerinden % 20 daha diisiik olarak
fiyatlandirnilmasini uygun gormiistiir.

A) The board has proposed the sale of new
shares on the market at a price 20 % less

than their current value.

B) The management has suggested that the new
shares be issued at a price 20 % lower than

the present market value.

C) The management has agreed that the new
shares be priced 20 % below their current
market value.

D) The board has announced that the price of
the shares currently coming onto the market
should be reduced by 20 % .

E) The managing board has accepted the pricing
of the new shares, which will be 20 % down

on their actual value on the market.



1997 Kasim

ingiltere ile iskogya arasinda imzalanan ve

1 Mayis 1707’den itibaren yiiriirliige giren
“Birlik Andlasmasi”ni miiteakip, iskog ticaret
yasalarinin tiimii ingiltere’nin ticaret
yasalarina uygun hale getirildi.

A) Once “the Treaty of Union” between England
and Scotland went into effect on 1 May 1707,
all the Scottish trade laws had to be brought
into line with those of England.

B) “The Treaty of Union” between England and
Scotland went into effect on 1 May 1707 and
from then on the same trade laws held good
for England and for Scotland.

C) Following “the Treaty of Union” made
between England and Scotland and brought
into effect on 1 May 1707, the Scottish trade
laws were revised together with those of
England.

D) Following “the Treaty of Union”, which was
signed between England and Scotland and
went into effect as of 1 May 1707, all of the
Scottish trade laws were brought into
conformity with those of England.

E) After 1 May 1707, when “the Treaty of Union”
between England and Scotland went into
effect, all the trade laws of Scotland and
England had to be reviewed.



Gokbilimciler, evrenin, sadece giines ve
gezegenleri igine alan yildiz sisteminden
olugsmadigini belirtirler.

A) The astronomers suggest that the universe
may not merely consist of the star system
including the sun and the planets.

B) Astronomers point out that the universe does
not consist solely of the star system which
includes the sun and the planets.

C) As the astronomers have pointed out, the sun
and the planets are a part of the star system
that makes up the universe.

D) The star system, including the sun and the
planets, is not, in the opinion of the
astronomers, the sole component of the
universe.

E) Astronomers are undecided as to whether the
universe is simply compounded of the star
system which includes the sun and the

planets.



Misir’da Rozetta denilen bir yerde 1799’da
Fransizlar tarafindan bulunmus olan “Rozetta
Tasi”, hem hiyerogliflerle hem de Yunanca
yazilmig bir kitabeyi igeriyordu.

A) “The Rosetta Stone”, which was discovered in
1799 by the French at a place called Rosetta

in Egypt, bore an inscription written both in
hieroglyphics and in Greek.

B) The French found “the Rosetta Stone” in 1799
at a place called Rosetta in Egypt and there is
an inscription on it written both in

hieroglyphics and in Greek.

C) “The Rosetta Stone”, which was called after
the place, Rosetta, where the French found it
1799 in Egypt, has an inscription on it both in
hieroglyphics and in Greek.

D) The inscription on “the Rosetta Stone”, found
by French in 1799 at a place called Rosetta in
Egypt, makes this an important discovery as it

is written both in hieroglyphics and in Greek.

E) “The Rosetta Stone”, with its inscription in
hieroglyphics and Greek, is still to be found
where the French discovered it in 1799, at
Rosetta in Egypt.
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Profesor Green, makalesinde, 1950’lerin
ortasindan itibaren ingiltere’de, kémiir
madenciligi diginda grevlerin sayisinin artma
egilimi gosterdigini vurgulamaktadir.

A) As Professor Green points out in his article,
from the mid-1950s onwards, strikes have
been on the increase in Britain, except among
coal miners.

B) It is emphasised in Professor Green’s article
that, coal mining apart, there has been a
noticeable increase in the number of strikes in
Britain since the mid-1950s.

C) In his article Professor Green has
emphasised that, from the mid-1950s
onwards, the number of strikes in Britain has
tended to increase in all areas of mining other
than coal.

D) What is stressed in Professor Green’s article
is that in the mid-1950s the number of strikes
in Britain tended to increase in all areas of
mining other than coal.

E) In his article Professor Green makes the point
that the tendency to increased striking activity
from the mid -1950s onwards in Britain is
limited to coal mining.
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Anadolu’nun gesitli yerlerinde yapilan

kazilar, Hititlerin M.O. 1350 dolaylarinda
yiiksek bir uygarlik diizeyine ulastiklarini
ortaya koymustur.

A) Hittite settlements in Anatolia have been
excavated in order to show that there was a
high level of civilisation before 1350 B.C.

B) Excavations carried out in various parts of
Anatolia suggest that the Hittite civilisation
came to its highest point around 1350 B.C.

C) Various parts of Anatolia are being excavated
so as to confirm that there was a high level of
Hittite civilisation there around 1350 B.C.

D) Excavations suggest that the Hittites of
Anatolia only reached a high level of
civilisation after 1350 B.C.

E) Excavations carried out in various parts of
Anatolia have revealed that the Hittites
attained a high level of civilisation round about
1350 B.C.



“Kara Oliim”, 1348-50 yillarinda Avrupa’yi
bastan basa saran ve hemen hemen niifusun
yarisini silip stipiiren vebaya verilen addir.

A) “The Black Death” is the name generally
given to the plague that swept across Europe
in 1348 and 1350 and caused the death of a
half of the population.

B) The plague known as “The Black Death”
swept across Europe during the years 1348-
50 and killed at least half of the population.
C) Between 1348 and 1350 half of the population
of Europe was killed by the plague generally
called “The Black Death”.

D) “The Black Death” is the name given to the
plague which swept across Europe in the
years 1348-50 and wiped out almost a half of
the population.

E) Almost half the population of Europe died
when the plague known as “The Black Death”
devastated Europe during the years 1348 to
1350.



Viyana Kongresi, Eyliil 1814’ten Haziran
1815’e kadar siirmiis ve Napolyon’un
yenilgisinden sonra gesitli Avrupa
devletlerinin topraklarinin sinirlarini
belirlemistir.

A) The Vienna Congress lasted from September
1814 to June 1815 and defined the borders of
the territories of various European states after
the defeat of Napoleon.

B) The Vienna Congress which was held
between September 1814 and 1815, defined
the borders between various European states
after Napoleon’s defeat.

C) The Vienna Congress was held between
September 1814 and June 1815, following
Napoleon’s defeat, in order to settle the
frontiers of various European countries.

D) The Vienna Congress which was held from
September 1814 to June 1815, after
Napoleon’s defeat, aimed to restore the
frontiers of European countries.

E) After the defeat of Napoleon, the frontiers of
various European countries were redefined at
the Vienna Congress, which lasted from
September 1814 to June 1815.
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Ortagag Avrupasinda 6nemli bir mimari

tarz olan “romanesk” mimari, dnce italya’da
gelismis ve daha sonra, Fransa ve Almanya
basta olmak lizere, tiim Avrupa’ya yayilmigtir.
A) Romanesque architecture, which was the
prevailing style in medieval European
architecture, first flourished in Italy and only
later spread to France and Germany and the
rest of Europe.

B) Romanesque architecture, which was a major
architectural style in medieval Europe, first
flourished in Italy and then spread to the rest
of Europe, with France and Germany in the
lead.

C) Romanesque architecture, which had
originated in Italy, soon became the prevailing
style of architecture throughout medieval
Europe but particularly in France and
Germany.

D) The major architectural style of medieval
Europe was the Romanesque one that
originated in Italy and spread mainly to

France and Germany.

E) The leading countries of Medieval Europe,
France and Germany, together with others,
adopted the Romanesque style of architecture
that had flourished in Italy.
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Bugiinki niikleer enerji liretiminin ana
maddesini olugturan uranyum, ge¢cmiste,
cesitli bilesikler halinde, seramik ve dokuma
sanayiinde kullaniliyordu.

A) The use of uranium is now largely limited to
the production of nuclear energy but formerly
compounds containing it were used in the
ceramics and textile industries.

B) Uranium is now the chief substance used in
the production of nuclear energy, but formerly
the ceramics and the textile industries used it
to produce various compounds.

C) Uranium is nowadays used mainly in the
production of nuclear energy though the
ceramics and the textile industries in the past
used its various compounds.

D) Uranium, which today constitutes the main
substance for the production of nuclear
energy, was used in the past in the ceramics
and textile industries in the form of various
compounds.

E) The uranium compounds, which were used in
the ceramics and textile industries in the past,
are today used mainly as the chief substance
of nuclear energy.
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Yaptigimiz ¢alisma, biiyiik kentlerin
banliyolerinde yasayanlarin sayisinin son on
yilda ii¢ katina giktigini géstermektedir.

A) The study we have carried out demonstrates
that the number of those living in the suburbs
of big cities tripled during the last ten years.

B) The research we have undertaken
demonstrates that the number of people living
in the suburbs of big cities tripled during the
last decade.

C) Our study shows that, during the last ten
years, there was a three-fold increase in the
number of those living in the suburbs of the
larger cities.

D) We have been informed that during the last
ten years, there was a three-fold increase in
the number of people living in suburbs around
the larger towns.

E) Our research suggests that the population of
the larger cities tripled during the last decade
with the growth of the suburbs.



1998 Mayis

Bir yil kadar siiren bir arastirmada, bilim
adamlari asiri sismanliga yol actigina
inandiklari bir gen bozuklugunu ortaya
cikardilar.

A) In a study that continued for a year, scientists
detected a gene defect that they believed led
to obesity.

B) A study, which lasted nearly a year,
convinced scientists that obesity could be
caused by a gene defect.

C) After a year-long study, scientists admitted
that obesity could be caused by a gene
defect.

D) Following a year-long study, scientists
observed a gene defect which they were
convinced was a cause of obesity.

E) A study, carried out on obesity by scientists
for almost the whole year, suggests that a
gene defect was the primary cause.



Eger bir kisiyi kendi davan i¢in kazanmak
istiyorsan, 6nce onu, onun gercek dostu
olduguna ikna etmelisin.

A) In winning a person to support your cause,
you must first of all establish that you are truly
his friend.

B) Before you can win a man to your side, you
must first prove to him that you are a faithful
friend.

C) If you want to win a man to your cause, you
must first convince him that you are his true
friend.

D) The very first step in persuading to take up
your cause is to impress on him that you are
genuine friend of his.

E) Should you wish to win a man over to your
side, you have in the first place to convince
him of your true friendship.



Son yillarinda zaman zaman Auden’in
tislubunda yazdigi siirler anlamca zengin veya
yeterince zarif olmasa da, zevkle okunabilir
niteliktedir.

A) In later years he improved the style of his
poems rather along the lines of Auden,
making them pleasantly readable though
without depth of meaning.

B) Now and then, especially as he got older, he
wrote poems, which like Auden’s, are
definitely readable but lacking in meaning and
not refined in style.

C) In later years he sometimes wrote very
pleasant poems which, although not rich in
meaning, have a polished style reminiscent of
Auden.

D) The poems he wrote occasionally in his later
years in the style of Auden are pleasantly
readable, even though they are not rich in
meaning or sufficiently refined.

E) Like Auden in his later years, he too wrote
poems in a more polished style which made
them even more pleasantly readable.
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Cogu gazeteci, Fransiz Bagbakani

Jospin’in gorevde oldugu ilk sekiz ay boyunca
siyasi manevra igin siiphe gotiirmez bir ustalik
gosterdigi goriisiindedir.

A) In the opinion of many journalists the French
Prime Minister Jospin has made full use of his
talent for political manoeuvre during the first
eight months of his being in office.

B) Most journalists are of the opinion that
through his first eight months in office, the
French Prime Minister Jospin has shown an
unsuspected flair for political manoeuvre.

C) As far as a number of journalists are
concerned, the French Prime Minister Jospin
has demonstrated his undoubted skills in
political manoeuvring during his eight months
in office.

D) Many journalists agree that Jospin, the
Premier of France, showed an amazing ability
for political manoeuvre during the first eight
months he was in office.

E) A number of journalists share the view that
following his eight months in office Jospin the
Prime Minister of France, excelled at political
manouevring.
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Ispanya Krali Il. Philip 1580’de Portekiz’i
aldigindan bu yana Portekizliler hep derin bir
isgal korkusu tagimiglardir.

A) Since the Spanish King Philip Il took over
Portugal in 1580, the Portuguese have always
had a deep fear of invasion.

B) Portugal in 1580, the Portuguese were
extremely afraid of the consequences of his
invasion.

C) Ever since Portugal was captured in 1580 by
the Spaniards under Philip Il, the Portuguese
people have been unremittingly fearful of
another invasion.

D) The Portuguese had always been afraid of a
Spanish invasion even before Portugal was
taken over in 1580 by Philip Il, the King of
Spain.

E) The Portuguese people’s deep-seated fear of
invasion dates back to 1580 when Philip Il of
Spain conquered Portugal.



Baskan Yeltsin italya’ya yaptigi geziyi
tamamlarken, Rusya’nin ulusal gaz sirketi
Gazprom da italyan enerji grubu ENI ile 2
milyar dolarlik bir s6zlesme imzaladi.

A) President Yeltsin’s visit to Italy ended with the
signing of a $2 billion contract between
Russia’s national gas company Gazprom and
Italy’s energy group ENI.

B) During President Yeltsin’s last visit to Italy, a
$2 billion contract was signed between
Russia’s national gas company Gazprom and
Italy’s energy group ENI.

C) The S2 billion contract between Gazprom
which is Russia’s gas company and ENI

which is Italy’s energy group was signed just
as president Yeltsin ended his tour of Italy.

D) As the President Yeltsin rounded up his visit
to Italy, Gazprom, Russia’s national gas
company, signed a $2 billion contract with the
Italian energy group ENI.

E) While President Yeltsin’s visit to Italy was
nearing its end, the $2 billion contract
between the Russian gas company Gazprom
and the Italian energy group ENI was finally
signed.
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ingiltere tarafindan halen uygulanmakta

olan ve iyilestirilmesine acilen ihtiya¢ duyulan
siginma politikasina gére, miilteciler tlkeye
variglarinda gozetim altina alinmakta ve yasal
islemlerin tamamlanmasi oldukga uzun
stiirmektedir.

A) Due to the requirements of the asylum policy
recently adopted by Britain but still in need of
improvement, every refugee who arrives in
the country has to be detained until legal
matters are settled, and this usually takes a
long time.

B) The current asylum policy followed by the
Britain urgently needs to be improved since it
requires that all the refugees arriving in the
country are to be held in custody until the
completion of legal procedures which takes
some time.

C) According to the asylum policy currently
practised by Britain and urgently in need of
improvement, refugees are detained on arrival
in the country, and the completion of legal
procedures takes quite a long time.

D) The asylum policy currently practised in
Britain is in urgent need of reform as, on
arrival, all refugees are taken into detention
until legal procedures are finalised which may
take a long time.

E) Britain’s current asylum policy, which is in dire
need of revision requires that all refugees are
to be detained upon their arrival in the country
and wait for the completion of lengthy legal
procedures.
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Su an Irak’la yasanan bunalima iligkin

olarak sizi temin etmek isterim ki biz, Irak
halkina kayip verdirme diisiincesini kesinlikle
hos karsilamiyoruz.

A) The idea of inflicting casualties on the people
of Irag in the course of present crisis is not, let
me assure you, one that pleases us.

B) | want to stress that the very idea of inflicting
casualties on the Iraqgi people is obnoxious to
me in the current crisis with Iraq.

C) As regards the present stalemate with Iraq |
feel | should emphasise that inflicting

casualties on the Iragi people is not an idea

we cherish.

D) I assure you that the thought of our having to
inflict casualties on the Iraqi people during the
present crisis is not a pleasing one.

E) Concerning the current crisis with Irag | want
to assure you that we do not at all relish the
thought of inflicting casualties on the Iraqi
people.



Giivenlik Konseyi, kitle imha silahlarinin
yayilmasi gibi kiiresel tehditlerle bas
edebilecek birkag uluslararasi kurulugtan
biridir.

A) Of the few international organisations
empowered to check the spread of weapons
of mass destruction, which is a global threat,
only the Security Council has proved
effective.

B) Except for Security Council, there are few
international bodies capable of tackling global
threats, such as the spread of weapons of
mass destruction.

C) The Security Council is one of the few
international bodies for tackling global threats,
such as the spread of weapons of mass
destruction.

D) To forestall the global threat of the spread of
weapons of mass destruction the Security
Council and some few other international
organisations came into being.

E) It is the Security Council which, with a few
other international bodies, has sought to
tackle such global threats as the spread of
weapons of mass destruction.
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Cesitli arastirmalar gostermistir ki, bugiin
Amerika’da, hemen hemen her iki saatte bir,
bir trenle bir motorlu tasit carpismaktadir.

A) Several studies have established that once in
every two hours in present-day America, a
train and a vehicle crash.

B) According to various studies carried in
America today, there is a collision between a
train and another vehicle practically every two
hours.

C) In America today, as various studies have
revealed, a train hits a vehicle as often as
every two hours.

D) Various studies show us that every two hours
or so a train runs into a vehicle in America
today.

E) Various studies have shown that in America
today a train collides with a vehicle almost
every two hours.



1998 Kasim

Ulkenin en kalabalik kenti ve isvigre
bankacihiginin kalbi olan Ziirih, kendi
okullarinda dil 6gretiminin iyilestirilmesi icin
bir danigma kurulu olusturdu.

A) Zurich, one of the most crowded cities in the
country and the main centre of Swiss banking,
has decided to establish a working committee
for the improvement of language schools.

B) Zurich, the most populous city of the country
and the heart of Swiss banking, set up an
advisory committee for the improvement of
language teaching in its own schools.

C) The first of the advisory committee to be set
up for the advance of language teaching in
schools was in Zurich, which is an extremely
crowded city and the heart of banking centre
of Switzerland.

D) For the development of language teaching in
schools a special committee was set up for
Zurich, since it was a very crowded city and

the heart of banking in Switzerland.

E) Zurich, which is an over-populated city and
has been the heart of banking in Switzerland
has launched a policy for efficient language
teaching in its schools in line with the advisory
committee’s recommendations.



ingiliz ihracatgilar, hiikiimetlerine, sterlinin
ulastigi diizeyden oldugu kadar, tirmandigi
hizdan da sikayet etmektedir.

A) British exporters denounce the government
for the level sterling has reached as well as

for the speed at which it has climbed.

B) British exporters are criticising the
government as much for the speed with which
the sterling has risen as for the level it has
reached.

C) British exporters blame the government for
the rapidness of the rise of the sterling as well
as for the level to which it has risen.

D) It is as much the speed at which sterling has
climbed as the level to which it has risen that
has made British exporters criticise their
government.

E) British exporters complain to their government
as much about the speed with which sterling
has climbed as about the level it has reached.



1960’larin sonlarinda ingiltere’de Wilson
hiikiimeti, licret artiglarinin enflasyon
izerindeki etkisini kontrol edebilmek i¢in
sendikalarin destegini kazanmaya ¢alisti.

A) Having won the Unions’ support in Britain in
the late 1960s, the Wilson government was
able to control inflation by cutting down on
wage increases.

B) Later in 1960s in Britain, the Wilson
government won the Unions’ support thus
making it possible to control the effect of
wage increases upon inflation.

C) With view to controlling the effect of wage
increases upon inflation in Britain, the Wilson
government began, towards the end of the
1960s, to ask for more support from the
Unions.

D) In the late 1960s in Britain, the Wilson
government tried to win the Unions’ support in
order to control the effect of wage increases
on inflation.

E) the Wilson government won the support of the
Unions in the late 1960s in Britain by
controlling the effect of wage increases on
inflation.
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Kamuoyu yoklamalari farklilik gosterir,

ancak Avusturalyalilarin yaklasik tgte ikisi
cumhuriyet istediklerini agik¢a s6ylemektedir.
A) Opinion polls are inconclusive, but roughly
two-thirds of all Australians are clearly

pleased to have a republic.

B) Opinion polls may vary, but well-over twothirds
of the Australians admit that they want
arepublic.

C) Opinion polls conclusively show that roughly
two-thirds of the Australian people actually
want a republic.

D) Opinion polls are unreliable, but nevertheless
it is apparent that two-thirds or so of the
Australian people are in favour of a repubilic.

E) Opinion polls vary, but about two-thirds of the
Australians openly say that they want a

republic.



Sovyetler Birligi ¢oktiigiinden beri,

sermaye kagisi, kominizm sonrasi Rusya’nin
baslica ekonomik hastaliklarindan biri
olmustur.

A) Ever since the Soviet Union collapsed, capital
flight has been one of post-communist

Russia’s chief economic plagues.

B) Once the Soviet Union collapsed, capital flight
became the most persistent of all postcommunist
Russia’s economic headaches.

C) Following the collapse of the Soviet Union,
post-communist Russia’s economy has been
plagued by the capital flight.

D) Capital flight has, ever since the Soviet Union
collapsed, been one of the most feared
economic problems of post-communist

Russia.

E) Following the collapse of the Soviet Union
and the start of the post-communist era,
Russia’s economy has suffered on account of
capital flight.



Hindistan’da sugun giderek daha az 6nemli

bir sorun oldugu diisiincesi tamamen
yanilticidir.

A) It would be quite wrong to assume that crime
is becoming a less serious problem in India.

B) The idea that crime is becoming a less
significant problem in India is completely
misleading.

C) It would be most unfair to infer that the
problem of crime is steadily being disregarded
in India.

D) The idea that the problem of crime is on the
decrease in India is completely wrong.

E) The view that crime in India is steadily
ceasing to be a major problem is rather
disturbing.



1970’lerdeki biiyiik petrol bunalimindan

beri, Uluslararasi Enerji Kurumu alternatif
enerji kaynaklari bulmak igin yapilan
aragtirmalari tegvik etmis ve desteklemistir.

A) Since the great oil crisis of the 1970s, the
International Energy Agency has encouraged
and supported research carried out to

discover alternative energy sources.

B) Since there was a great oil crisis in the 1970s,
the International Energy Agency has been
encouraging and supporting research into
alternative energy sources.

C) Following the serious oil crisis of the 1970s,
the International Energy Agency has been
encouraging and subsidising any research
pertaining to alternative energy resources.

D) Following the great oil crisis of the 1970s, the
International Energy Agency has encouraged
research that might lead to the discovery of
alternative energy sources.

E) The great oil crisis of the 1970s convinced the
International Energy Agency of the need to
support research into the development of
alternative energy resources.
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Avrupa’da ortak bir pazar icin ilk plani

daha 1943-44’lerde tasarlayan, eski Hollanda
disisleri bakani J. W. Beyen idi.

A) Back in 1943 or 1944, it was a former Dutch
foreign minister J. W. Beyen, who first
announced a plan for a common market in
Europe.

B) As early as 1943-44, the first plan for the
common European market was drawn up by
J. W. Beyen, Holland’s former foreign

minister.

C) The first plan for Europe’s common market
dates from 1943-44 and was drawn up by J.
W. Beyen, a former Dutch foreign minister.

D) It was J. W. Beyen, a former Dutch foreign
minister, who as early as 1943-44, drafted the
first plan for a common market in Europe.

E) As far back as 1943-44, ). W. Beyen, who at
the time was the Dutch foreign minister, drew
up the first plan for a European common
market.



Bizimki sadece kiigiik bir nakliye sirketi

oldugu icin navlunda indirim yapmamiz
maalesef miimkiin degildir.

A) Since ours is only a small transport company,
I’'m afraid it is impossible for us to make a
discount on the sea freight.

B) Because our transport company is rather
small, we sometimes manage to offer a
discount on the sea freight.

C) Though ours is quite a small transport
company, it shouldn’t be impossible for us to
arrange a discount on the sea freight.

D) I am sorry but, as this is only a small transport
company, it would be unreasonable to expect

a discount on the sea freight.

E) A small transport company such as ours
cannot reasonable be expected to offer any
discount on the sea freight.



Dicle lizerinde yapilan kaya dolgu yeni

baraj, en siddetli depremlere dayanacak kadar
saglamdir.

A) The new rock-fill dam built on the Tigris has
been designed so as to stand firmly even in
the event of violent earthquake.

B) There is a new rock-fill dam on the Tigris
which has been constructed to be strong
enough to withstand the most severe of
earthquakes.

C) The new rock-fill dam, constructed on the
Tigris, is strong enough to withstand the most
severe earthquakes.

D) Even an extremely violent earthquake could
not damage the new rock-fill dam constructed
on the Tigris.

E) The new rock-fill dam on the Tigris was built
so solidly that even a severe earthquake
couldn’t pose a threat.



1999 Mayis

ingiltere’de iki milyondan fazla kisi, Avrupa
Birligince izin verilen en yiiksek diizeyin ¢ok
iistiinde aliiminyum igceren musluk suyu
icmektedir.

A) The European Union only permits a certain
level of aluminium in the drinking water, but
more than two million people in Britain drink
tap water exceeding this level.

B) There are two million people in Britain today
who drink tap water containing a higher level of
aluminium than that allowed by the European
Union.

C) The European Union is concerned that over
two million people in Britain are drinking tap
water with an unacceptably high aluminium
level.

D) The level of aluminium in the tap water that
over two million people drink in Britain today,
exceeds what the European Union allows.

E) In Britain, over two million people drink tap
water which contains aluminium well over the
maximum level permitted by the European
Union.



Sili’li segmenler, 1990’da ve tekrar 1996°da,
orta-sol koalisyonlarin segilmesi ile
demokrasiye gegis siirecine onay verdiler.

A) The Chilean electorate confirmed the transition
to democracy in both the 1990 and 1996
elections in which a centre-left coalition was
elected.

B) As in 1990, so in 1996, the Chilean voters
showed their approval of the transition to
democracy by electing a coalition of the centreleft.
C) The transition to democracy in Chile was aided
by the election in 1990 and also in 1996 of a
centre-left coalition.

D) In 1990 and again in 1996, through the
election of centre-left coalitions, the Chilean
electorate endorsed the process of transition to
democracy.

E) The election, by the Chilean voters, of a
centre-left coalition in 1990 and again in 1996
strengthened the transition process for
democracy.



Bugiin, gelecek vaat eden pek ¢ok geng
yetenege karsin, Amerikan komedileri
diizeyinde komedi urettigimizi sanmiyorum.

A) Today, despite a lot of promising young talent,
| don’t think we are producing comedies of the
standard of American ones.

B) The comedies we are currently producing are
hardly of the same standard as the American
ones, though we do have a great deal of young
talent.

C) The standard of the comedies we have
produced so far is well below that of American
comedies, despite the fact that there are plenty
of talented young people today.

D) Though there are plenty of talented young
people today, still the standard of the comedies
we have produced is below that of the
American ones.

E) Even though we have a lot of young talent
today, we are producing comedies of a lower
standard than those in America.



iki yil dnce bunaltici bir yaz basinda,
ingiltere’deki gida ve tarimciligi tanitmak
amaciyla, Londra Hyde Park’ta 6zel ve son
derece ilging bir sergi diizenlendi.

A) The special exhibition set up in London’s Hyde
Park two years ago, during a terribly hot
summer, aimed to promote Britain’s food and
farming.

B) An especially interesting exhibition was held
two years ago in London’s Hyde Park, at the
start of a very hot summer, in order to promote
Britain’s food and farming.

C) It was two years ago, in Hyde Park, in London,
during an exceedingly hot summer, that a
special exhibition was set up to promote
Britain’s farming products.

D) Two years ago, at the beginning of a
sweltering summer, a special and most
interesting exhibition was put on in Hyde Park
in London to promote the Britain’s food and
farming.

E) To promote Britain’s food and farming, a
particularly interesting exhibition opened in
London’s Hyde Park at the beginning of that
memorable hot summer two years ago.
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Filmin bagarisi, sadece oyunculugun

giiclinde ve gesitliliginde degil, ayni zamanda
yonetmenin duygulu bir destan yaratmasinda
da yatmaktadir.

A) The success of the film is in part due to the fact
that the acting is powerful and convincing and

in part to the director's creation of a stirring
epic.

B) The film succeeds not only because the acting
is powerful and various but also because the
director has managed to create a sensitive

epic quality.

C) The success of the film lies not just in the force
and range of the acting but in the director's
creation of a sensitive epic.

D) It is not only the sensitivity and the complexity
of the acting that is responsible for the film’s
success, but also the powerful epic quality the
director has brought into it.

E) Not only the sensitivity and range of the acting
but also the director’s inspired creation of an
epic atmosphere contributes to the success of
the film.
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Mozart iki yiiz yedi yil 6nce bu ay

oldigiinde, daha sonra 6grencisi Stissmayr
tarafindan tamamlanan Requiem'ini
bitirememisti.

A) It was Sissmayr, one of Mozart's students,
who completed the Requiem, left unfinished by
the composer when he died two hundred and
seven years ago this month.

B) When Mozart died two hundred and seven
years ago this month, he had been unable to
finish his Requiem, which was later completed
by his student Stuissmayr.

C) Two hundred and seven years ago this month,
when Mozart died, he left his Requiem
unfinished for his student Sissmayr to
complete.

D) Upon Mozart's death two hundred and seven
years ago this month, his student Stissmayr
completed the Requiem which the composer
had failed to finish.

E) The Requiem, which Mozart had been unable
to complete before his death two hundred and
seven years ago this month, was finished by

his student Stissmavr.
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Az geligmis Ulkeler icinde, karayolu

yapiminda en faal olani Brezilya’dir, giinkii
karayolu tagimacihigi, bu iilkenin ekonomisinin
belkemigini olusturur.

A) Among less developed countries, the most
active one in road construction is Brazil, for
road transportation constitutes the backbone of
the country's economy.

B) Since rood transportation in Brazil is basic to
the country's economy, road construction here
is more active then in less developed
countries.

C) Road construction in Brazil is far ahead of that
in other less developed countries as the
country's economy is largely dependent on
road transportation.

D) When compared with other less developed
countries, Brazil is particularly active in road
construction since its economy depends so
completely on road transportation.

E) Since road transportation is vital to Brazil's
economy, road construction in this country
receives more priority than in other less
developed countries
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Cinsel iktidarsizlik, yaglanmanin dogal bir
isareti olabilecegi kadar, biinyede seker veya
yiiksek tansiyon gibi ciddi bir gelismenin
belirtisi de olabilir.

A) Diabetes and hypertension, which are
generally regarded as serious bodily
developments, have the same symptoms as
sexual impotence in old age.

B) One of the serious developments that old age
causes in the body is sexual impotence which
may also be a common symptom of diabetes
and hypertension.

C) It is not only old age but also diabetes and
hypertension which, as serious developments
in the body, cause sexual impotence.

D) The causes of sexual impotence, a natural
condition of old age, are usually regarded as
related to diabetes or hypertension.

E) Sexual impotence can be as much a natural
sign of growing old as the symptom of a
serious development in the body, such as
diabetes or hypertension.



Baskan, son istatistiklere atifta bulunarak,
Amerika'nin bazi kentlerinde su¢ oraninin son
on yil icinde hizla artmis oldugunu ifade etti.
A) The President announced that, according to
some recent statistics, the rate of crime in a
number of American cities had clearly risen
substantially over the past decade.

B) Citing recent statistics, The President stated
that, over the last decade, the crime rate in
some cities of America had risen rapidly.

C) As the President pointed out with reference to
recent statistics, since the last decade, the
number of crimes in various major American
cities has risen sharply.

D) The President argued that, in view of recent
statistical evidence, the rapid rise in the rate of
crime in some American cities during the last
decade called for serious action.

E) As the President has pointed out, it appears
from recent statistics that, over the last
decade, there has been a considerable rise in
the crime rate in some American cities.



Observer gazetesinin genel yayin

yonetmeni Will Hutton, ingiliz basininin
durumunu izlemek iizere kurulan bagimsiz bir
kurulun baskanhigina atandi.

A) Will Hutton, presently editor-in-chief of The
Observer, has been approached to chair a
special commission which will look into the
issues facing the British press.

B) In order to study the efficiency of the British
press, Will Hutton, editor-in-chief of The
Observer, was selected to chair an
independent commission.

C) Will Hutton, former editor-in-chief of The
Observer, has been designated as the
chairman of a free commission to report on the
state of the British press.

D) Will Hutton, editor-in-chief of The Observer,
was appointed chair of an independent
commission set up to monitor the state of the
British press.

E) Will Hutton, who is currently the editor-in-chief
of The Observer, has been chosen as the chair
of an autonomous commission established to
study the progress of the British press.
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1999 Kasim

Amerika'da is¢i sendikalari, sanayi sonrasi
ekonominin yiikselisi ve agir sanayinin
6neminin azalmasi sonucu, diger sanayilesmis
iilkelerde oldugundan daha az giice sahiptir.

A) Since the importance of heavy industry in this
post-industrial economy has declined
considerably, the American workers' unions
have less power than those in other
industrialized countries.

B) The power of workers' unions in America has
fallen below that of the unions in other
industrialized countries because of the
transition from heavy industry to a postindustrial
economy.

C) With the rise of the post-industrial economy
and the decline in the importance of heavy
industry, workers' unions in America wield

less power than in other industrialized
countries.

D) As the post-industrial economy has replaced
the heavy industrial one, the importance of
workers' unions in America has decreased in
comparison with other industrialized

countries.

E) In America, the workers' unions are no longer
as powerful as those in other industrialized
countries, since the rise of the post-industrial
economy has eclipsed the importance of

heavy industry.



Eski Dogu Almanya’da licret esitligine

iliskin grevler, bazen endiistriyel gatismanin
nasil kaginilmaz olduguna 6rnektir.

A) In the former East Germany, strikes over
wage equality can be regarded as an

example of the inevitability of industrial
conflict.

B) Strikes have been held in former East
Germany to demand equal wages, and this
shows how industrial conflicts cannot be
avoided.

C) The strikes held for the equality of wages in
what once used to East Germany,
demonstrates that industrial conflicts are
almost unavoidable.

D) The fact that industrial conflict cannot always
be avoided is best demonstrated by the
example of the strikes held for wage equality
in the former East Germany.

E) The strikes in the former East Germany over
wage equality are an example of how
industrial conflict is sometimes unavoidable.



Eger hafif ugaklar veya helikopterler

mevcut olsaydi, felaket alani lizerinde bunlarla
yapilacak algak uguslar, hasarin cografi
boyutlari hakkinda hizli bilgi saglayabilirdi.

A) If light aircraft or helicopters were available,
low altitude flights over the disaster area
would yield rapid information on the
geographic extent of the damage.

B) Had light aircraft or helicopters been ready,
flights at low altitudes over the disaster area
could have provided useful information as to
the geographic extent of the disaster.

C) The geographic extent of the damage in the
disaster area could have been established by
low altitude flights If light aircraft and
helicopters had been available.

D) So long as light aircraft and helicopters for
low altitude flights are available, valuable
information concerning the geographic extent
of the damage in the disaster can be
obtained.

E) The geographic extent of the damage in the
disaster area could have been rapidly learned
if only light aircraft and helicopters could have
been made available for low altitude flights.
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Yonetim kurulu yakin gelecekte higbir

Ucret artisi yapilmayacagini agikga belirtti.

A) The board declared that the question of any
wage increase could be brought up again in
the near future.

B) It was openly stated by the board that no
increase at all in the wages could be seen in
the near future.

C) The board declared that there could be no
guestion of any wage increase in the near
future.

D) The board made it clear that there would be
no wage increase whatsoever in the near
future.

E) The board announced that no wage increase
was to be expected in the near future.



Saglik hizmetlerini ne sekilde diizenlemis
olurlarsa olsunlar Avrupa iilkelerinin hepsi
son otuz yil icinde masraflarinin yillik ortalama
ylzde 4.1 oraninda arttigini gormiistiir.

A) In whatever way the European countries have
organized their health services, they have all
seen their costs rise over the past three
decades at an annual average rate of
4,1percent.

B) Despite the fact that all the European
countries have organized their health services
efficiently, they have been unable to prevent a
yearly rise in costs of 4.1 percent over the

past three decades.

C) The cost of health services has increased at
an annual rate of 4,1 percent over the last
thirty years even though great efforts have
been made by the European countries to
organize them more efficiently.

D) An annual increase of 4,1 percent in the cost
of health services in European countries

during the last three decades has led to even
greater efforts to improve organization.

E) Most European countries have failed to curb
the yearly 4,1 percent increase in the cost of
health services in spite of the efforts made
over the last thirty years to make the
organization more efficient.
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Soguk savag donemi ile ilgili pek ¢cok yayin
yapmis oldugu icin, kendisinden 1960’larda
Batidaki Sovyet casusluk faaliyetleri lizerine
bir konugma yapmasini rica ettik.

Even though most of his publications have been
on the Cold War era, we asked him to lecture
on the work of the Soviet spies in the West in
the 1980s.

His publications on the Cold War era are so
illuminating that we have approached him to
give a talk on the activities of the Soviet spies

in the West in 1980.

As he has published a great deal on the Cold War
era, we encouraged him to present a paper on
the Soviet espionage activities throughout the
1980s in the West.

Since he has published extensively on the Cold
War era, we asked him to give a lecture on

the Soviet espionage activities in the 1980s in
the West.

We asked him to give the lecture on the activities
of the Soviet spies in the West in the 1980s,

for most of his publications are related to the
Cold War era.
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Tropikal kereste ticareti, yagmur

ormanlarinin tahribinde oynadigi rol nedeniyle,
uluslararasi kayginin 6nemli bir adagi

olmustur.

A) Rain forest destruction deserves to be a focus
of international concern as the tropical timber
trade continues to grow.

B) The tropical timber trade has caused a great
deal of international concern since it is held to
be a major cause of rain forest destruction.

C) The tropical timber trade has been a major
focus of international concern because of the
role it plays in rain forest destruction.

D) The role played by the tropical timber trade in
the destruction of rain forests has been a
matter of international concern.

E) International concern has at last focused on
rain forest destruction which is caused by the
tropical timber trade.



Adam Smith, bir lilkenin yiiksek kaliteli

iiriinler liretmede gerekli becerileri kazanmasi
icin en az 50 yillik deneyime ihtiyaci oldugunu
iddia etmistir.

The essential skills required for the production of
high-quality goods can, as Adam Smith
explained, only be acquired over a period of

60 years in any country.

According to Adam Smith, a period of at least 50
years of experience is essential for the
acquisition of the skills needed for high-quality
production in a country.

As Adam Smith pointed out, at least 50 years of
experience is necessary if a country is to

produce high-quality goods.

Adam Smith claimed that at least 60 years of
experience were needed for a country to

acquire the necessary skills to turn out highquality
products.

Adam Smith asserted that the production of highquality
goods in a country depended on the

acquisition of skills gained over a period of 60
years.
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Pek ¢ok ulusun demokrasiye ve Pazar
ekonomisine yoneldigi son birkag yil, diinya
tarihinde 6nemli bir doniim noktasi olarak
diistinulebilir.

A) The past few years, in which many nations
have moved towards democracy and a market
economy may be considered an important
turning point in world history.

B) While many nations have been moving
towards democracy and a market economy a
significant change has taken place in world
history due to the developments of the past
few years.

C) The movement among several nations
towards democracy and a market economy
during the past few years has brought forth a
major change in the history of the world.

D) An important turning point in the history of the
world has occurred as a result of the progress
made among several nations towards
democracy and a market economy.

E) This significant change in world history
following the progress of many nations
towards democracy and a market economy
has occurred only in the past few years.
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Kitap fiyatlari bes yilda sadece yiizde kirk
artarken, dergi fiyatlari yirmi yilda yiizde 400
artmistir.

The price of journals, unlike the price of books
that has increased 40 percent in five years

has increased well over 400 percent in twenty
years.

Journal prices have risen 400 percent in twenty
years while the price of books has increased
only 40 percent in five.

Over the last five years, the price of books has
gone up only 40 percent while that of journals
has soared to over 400 percent in twenty
years.

In contrast to the rise in book prices which has
been only 40 percent in five years, that of
journal prices has exceeded 400 percent in
twenty years.

Although book prices have only risen by 40
percent in the last five years, those of
journals, during the last twenty years, have
gone up more than 400 percent.



2000 Mayis

Aydan bakildiginda, diinya, uzayin karanhk
boslugunda bir yasam vahasi olarak
goriinmektedir.

A) The world, when seen from the moon, seems
like a bright oasis of life in the vast darkness

of space.

B) Observed from the moor, the world looks like
an oasis of life in the dark vastness of space.

C) Viewed from the moon, the earth appears as
an oasis of life in the dark emptiness of space.
D) In the infinite darkness of space, the earth, as
seen from the moon, is indeed an oasis of life.
E) It is an oasis of life in the dark vastness of
space that the world is seen from the moon.



Bugiin Bati, Ugiincii Diinya iilkelerine borg

para verme teknigini, onlari kontrol altinda
tutma araci olarak mitkemmellestirmis
bulunmaktadir.

A) The technique of lending money to the Third
World countries has today been improved by
the West so that it can control them.

B) Today, the West has perfected the technique
of lending money to the Third World countries
as a means of controlling them.

C) In order to control the Third World countries
today, the West has developed certain
money-lending techniques.

D) Today, the money-lending techniques
perfected by the West have become a means
for controlling the Third World countries.

E) Today, the Third World countries are perfectly
controlled by the West by means of moneylending
techniques.



Savas sonrasi donemde, Diinya

Bankasi'nin etkisiyle, yoksul tropikal iilkelerde
¢ok genis alanlar, sekerkamisgi tarlalarina
donustiirilmustiir.

A) In the post-war period, under World Bank
influence, vast areas in the poorer tropical
countries were converted to sugarcane
plantations.

B) After the war, It was the World Bank that
suggested that he poorer tropical countries
should convert large areas into sugarcane
farms as there was a profitable market for the
product.

C) After the post-war period, the poorer tropical
countries with large farming areas,

encouraged by the World Bank, shifted to
sugarcane production.

D) Since there seemed to be a market, the
poorer tropical countries, with the support of
the World Bank, turned vast areas into
sugarcane plantations as soon as the war was
over.

E) In the years following the war, the World Bank
urged the poorer tropical countries with large
farming areas to turn to sugarcane cultivation.
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Bizimki, seksen kadar ¢aligani ile sebze ve
tarla bitkilerinin genetik iyilestirilmesi Gizerine
ileri diizeyde arastirma yapan bir bitki
biyoteknolojisi sirketidir.

A) Roughly eighty of the employees of our plant
biotechnology company are researching at an
advanced level, genetic improvement of
vegetable and field corps.

B) Our company specializes in plant
biotechnology and has roughly eighty
employees, who carry out advanced research
into the genetic improvement of vegetable and
field crops.

C) Ours is a plant biotechnology company with
approximately eighty employees carrying out
advanced research into the genetic
improvement of vegetable and field crops.

D) Ours is a plant biotechnology company and at
least eighty of the employees are engaged in
research into the genetic improvement of
vegetable and field crops.

E) Our company is concerned with plant
biotechnology and some eighty of the topgrade
employees are engaged in research

into the genetic improvement of vegetable end
field crops.
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Son birkag yil icinde gokbilimciler, kendi
sistemimizin 6tesinde bir diizineden fazla
yildiz sisteminde Jiipiter biiyiikliigiinde dev
gezegenler ortaya cikarmiglardir.

A) The recent discovery of a dozen or so
massive Jupiter-sized planets in star systems
beyond our own, has amazed even
astronomers.

B) Astronomers have, in recent years, brought to
light dozens of huge planets, such as Jupiter,

in star systems outside our own.

C) Recently. a dozen or more astronomers have
been suggesting that there are gigantic,

Jupiter sized planets in star systems beyond
our own.

D) In the past few years, astronomers have
detected giant, Jupiter-sized planets in more
than a dozen star systems beyond our own.

E) For several years, astronomers have been of
the opinion that there may be huge, Jupitersized
planets in at least a dozen star systems

other than our own.



1980'lerden bu yana, diinyadaki niikleer
sanayi hizli bir sekilde diismektedir ve Avrupa
Birligi icinde on beg lilkeden yedisi niikleer
enerjiden agama asama vazgecmistir.

A) Since the 1980s, the nuclear industry in the
world has been declining rapidly, and within
the European Union, seven out of fifteen
countries have phased out nuclear power.

B) Starting with the 1980s, there has been a
steep decline in the nuclear industry
throughout the world, especially in the
European Union where only seven of the
fifteen continue to use nuclear power.

C) The world's nuclear industry has continued to
decline since the 1980s; in particular, this is
true of the fifteen countries of the European
Union, seven of which have slowly ceased to
use it altogether.

D) Seven of the fifteen countries of the European
Union have gradually put an end to the use of
nuclear power; the movement started in the
1980s and has continued world-wide ever
since.

E) After the 1980s, the nuclear industries of the
world have fallen into disrepute, especially in
the European Union where seven of the

fifteen countries have, step by step, stopped
using it altogether.
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Bill Clinton, radyo konugmasinda bazi
Amerikan okullarinda verilen egitimin
toplumun en iyi degerlerini beslemedigini
soyledi.

A) Bill Clinton, in his radio talk, concentrated on
the various ideals of society and regretted that
some American schools failed to nourish
them.

B) During his radio talk, Bill Clinton explained
how the education given in some American
schools failed to uphold the best values of
society.

C) In his radio talk, Bill Clinton said that the
education provided in some American schools
did not nourish the best values of society.

D) Bill Clinton pointed out in his radio talk that it
was the duty of the American education
system to ensure that some schools
encouraged the best values of society.

E) In certain American schools, as Bill Clinton
pointed out in his radio talk, the education
provided was not in accord with the ideals of
society.
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insan, Japonya’yi boydan boya trenle
gezebilir ve bir istasyonda durdugunda bir
tagra kentini 6tekinden ayirt etmenin hemen
hemen imkansiz oldugunu hisseder.

A) As one travels the length and breadth of
Japan by train, one realizes at each station
that one provincial town is very like another.
B) One can travel the length and breadth of
Japan by train and feel, when stopping at a
station, that it is almost impossible to
distinguish between one provincial town and
the next.

C) While travelling by train through Japan, one
feels at each atop at a station that each
provincial town is virtually identical with the
next.

D) Travelling from one end of Japan to the other
by train, one realizes, when stopping at a
station that one provincial town imperceptibly
into the next.

E) When travelling hither and thither by train In
Japan, and stopping at various stations, one
notices how each provincial town is identical
with the rest.
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Romanci Thomas Hardy, 6zyasam

oykusiinde babasindan, "kalkinmakta olan
kirsal topluluklarda gereksinim duyulan sanat
ve becerilerin ¢coguna sahip ender insanlardan
biri" olarak s6z eder .

A) The novelist Thomas Hardy, in his
autobiography, describes his father as "one of
those rare people who had developed almost
all the arts and skills needed to make a rural
community survive."

B) In his autobiography, the novelist Thomas
Hardy describes his father as "one of those
rare people who possessed most of the arts
and skills needed in thriving rural
communities.

C) In his autobiography, Thomas Hardy, the
novelist, tells how his own father "was
unusual in that he cherished the arts and skill
that enable rural communities to flourish.

D) The novelist Thomas Hardy describes in his
autobiography how his own father was one of
those valuable people who encouraged the
arts and skills that help rural communities to
thrive."

E) The novelist Thomas Hardy describes in his
autobiography how his father was "one of the
few people to use his arts and skills to ensure
that rural communities would flourish."
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Bazi iktisatgilara gére, komiinist ekonomik
sistemin ¢6kiis nedenlerinden biri, ok yiiksek
maliyetle ¢ok az liretim yapmis olmasidir.

A) In the opinion of some economists, high
production costs and low output were the
main reasons for the collapse of the
communist economic system.

B) According to some economists, the collapse
of the communist economic system was in
part due to the fact that too little was produced
at too high a cost.

C) Some economists are of the opinion that too
little was being produced at too high a cost,
and it was for this reason that the communist
economic system collapsed.

D) For some economists, the reason for the
collapse of the communist economic system
was that too few goods were produced at too
high a price.

E) According to some economists, one of the
reasons for the collapse of the communist
economic system is that too little was
produced at too high a cost.
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2000 Kasim

iskandinavya’da pek ¢ok gélde baliklarin

yok olmasi, muhtemelen, asit yagmurundan
kaynaklanan kirliligin bir sonucudur.

A) The disappearance of fish from many lakes in
Scandinavia has probably been the result of
pollution caused by acid rain.

B) The disappearance of so many fish from the
lakes of Scandinavia can be traced to

pollution by acid rain.

C) Acid rain has apparently polluted the many
lakes of Scandinavia resulting in the
disappearance of the fish.

D) Many of the lakes of Scandinavia would have
been polluted as a result of this acid rain and,
consequently the fish lost.

E) The disappearance of so many fish from the
lakes of Scandinavia is due to pollution from
acid rain.



Pasifik Okyanusu'nun Atlantik
Okyanusu'ndan ayri oldugunu ilk fark eden
Avrupali, ispanyol kasif Vasco de Balboa idi.
A) Even so, it was the Spanish explorer Vasco
de Balboa who was the first European to
notice that the Pacific and the Atlantic were
separate oceans.

B) The Spanish explorer Vasco de Balboa was
the first European to realise that the Pacific
Ocean and the Atlantic Ocean were
separated.

C) The first European to recognise the Pacific
Ocean as distinct from the Atlantic Ocean was
the Spanish explorer Vasco de Balboa.

D) Vasco de Balboa of Spain was the first
European to discover that the Pacific and the
Atlantic oceans were separate.

E) Until the Spanish explorer Vasco de Balboa
made the discovery, Europeans did not
realise that the Atlantic Ocean and the Pacific
Ocean were distinct.



ilk kez 1853'te yayinlanmis olan Villette,
Charlotte Bronte'nin duygusal konulari ele
alan ikinci romanidir.

A) Villette, which is the second novel by
Charlotte Bronte to deal with these issues
emotionally, was first published in 1853.

B) Villette, first published in 1853, is Charlotte
Bronte's second novel to deal with emotional
issues.

C) Villette, Charlotte Bronte's second novel to
come out in 1853, treats emotional issues.

D) With the publication of her second novel
Villette, in 1853 Charlotte Bronte aroused
much interest.

E) In her second novel, Villette, first published in
1853, Charlotte Bronte treats these issues
emotionally.



Kizilderililer arasinda din, bireyle tanri
arasindaki bir iligki olarak degil, daha gok belli
bir tanriyla bir toplum arasindaki s6zlegsme
olarak goriiliir.

A) Religion, among American-Indian people, is
not regarded as a personal relationship
between the deity and each individual, but
rather as a covenant between a particular
deity and a community.

B) Religion, for the American-Indian people,
means an agreement between some special
deity and the community, there is no concept
of a personal relationship between the deity
and an individual.

C) For the American-Indian people, there is no
concept of a personal relationship between a
deity and an individual but only between a
specific deity and a community.

D) The American-Indian people believe that each
community has a special deity, but that there
can never be a personal relationship between
a deity and an individual.

E) The concept of a personal relationship
between an individual and a deity has no
place in the religion of the American-Indian
people, who regard their deity as common to
the community.
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Bu istatistiklere gore, dogal afetlerin

sonucu olan kiiresel ekonomik kayiplar,
1960'lardan beri her on yilda bir ikiye
katlanmaktadir.

A) There is evidence to suggest that, since the
1960s, global economic losses from natural
disasters have increased two-fold.

B) The statistics of the 1960s show that
economic losses had doubled during the
decade as a result of natural disasters around
the world.

C) It has been statistically proved that every ten
years since 1960, natural disasters have
resulted in worldwide economic losses.

D) According to these statistics, global economic
losses, as a result of natural disasters, have
doubled every decade since the 1960s.

E) The statistical evidence suggests that global
economic losses arising from natural

disasters have, since the 1960s, increased
two-fold.



Liberaller, Sosyalistler ve Yesiller'in daha
6nce denenmemis bir koalisyonu olan yeni
Belgika hiikiimetinin onceligi, kamu
harcamalarini denetim altina almaktir.

A) The priority for the new Belgian government
which is a previously untried coalition of
Liberals, Socialists and Greens, is to bring
public expenditure under control.

B) The newly formed Belgian government, a
coalition bringing together for the first time
Liberals, Socialists and Greens, seems
determined to bring public expenditure under
control.

C) For the first time, Belgian has a coalition
government consisting of Liberals, Socialists
and Greens and it is giving priority to curbing
public expenditure.

D) The former Belgian coalition government,
comprising for the first time Liberals,
Socialists and Greens had, for its first aim, the
curbing of public expenditure.

E) The drastic reduction in public expenditure is
the first success of Belgian's new coalition
government made up of, for the first time,
Liberals, Socialists and Greens.
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Avrupa Birliginin yayimladigi yeni rapora
gore, liye lilkelerin cogunda ekonomi olduk¢a
yavas biiyiiyecek, ancak daha rekabetgi ve
saydam olacak.

A) The new report issued by the European Union
to member countries warns that economic
growth will be slow, but it will be competitive
and transparent.

B) In a new report issued by the European
Union, it is suggested that some member
countries should expect the economy to grow
rather slowly but more competitively and
transparently.

C) The majority of the member countries of the
European Union, must, according to the
report, expect the economy to grow in a
manner that is both competitive and
transparent.

D) According to the new report released by the
European Union, in the majority of the
member countries, the economy will grow
rather slowly but will become more
competitive and transparent.

E) According to the report issued by the
European Union to member countries,
economic growth is expected to be more
competitive and transparent, but rather slow.
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Artezyen kuyularinin eski Misir'da ve

Cin’de bilindigi ve Blyiik Sahra’da en eski
¢aglardan beri var oldugu, tarihi belgelerden
anlagilmaktadir.

A) From historical documents we can easily
understand that there were artesian wells in
ancient Egypt and China and in the Sahara,

too, from earliest times.

B) It is apparent from historical documents that
artesian wells were known in ancient Egypt
and China and that they have existed in the
Sahara since earliest times.

C) There are historical documents to prove that
there were artesian wells in ancient Egypt and
China, and that they have existed in the

Sahara since earliest times.

D) Historical documents support the theory that
artesian wells were known in ancient Egypt
and China and that, since earliest times they
have been developed in the Sahara.

E) The existence of artesian wells in ancient
Egypt and China, and since earliest times in

the Sahara, is well documented in historical
records.
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ispanya Krali II. Philip tarafindan 1588’de
ingiltere’ye karsi sevk edilen ispanyol
Armadasi, 129 gemiden olusuyor ve 2000’den
fazla top ile 19 000 asker tasiyordu.

A) The Spanish Armada which King Philip Il of
Spain sent against England in 1588 was
guarded by 129 ships carrying more than

2000 cannons and more than 19 000 soldiers.
B) It was the Spanish King Philip Il who sent 129
ships, carrying 19 000 soldiers and 2000
cannons, against England in 1588 as a part of
the Armada.

C) The Spanish Armada of 1588 was sent
against England by Philip Il of Spain to attack
129 ships, 19 000 soldiers and over 2000
cannons.

D) The Spanish Armada sent against England in
1588 by King Philip Il of Spain, comprised 129
ships, and carried 19.000 soldiers and more
than 2000 cannons.

E) The Spanish Armada that King Philip Il of
Spain, planned to sent against England in
1588, was comprised of 129 ships carrying
19.000 soldiers and over 2000 cannons.
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Bir binanin aldigi bicim, hangi islev igin
kullanilacagina, mimarin estetik anlayisina ve
benimsenen yapi yontemine baghdir.

A) The form a building finally takes is determined
by the purpose it is to serve, the architect’s
aesthetic taste and structural techniques.

B) The final form of a building depends upon the
function it is to serve, the architect’s aesthetic
sense and structural requirements.

C) The function it is to serve, the architect’s own
feeling for form and any structural
requirements, all affect the form a building
takes.

D) The appearance of a building is influenced by
its usefulness, the architect’s special whims,

and the manner of construction.

E) The form which a building takes depends
upon the function for which it is to be used,

the architect’s aesthetic sense and the
structural method adopted.



2001 Mayis

Okyanus sularinin isinarak genislemesi ve
buzullarin artan bir hizla erimesi nedeniyle,
2100 yilina kadar deniz seviyelerinin yaklagik
yarim metre yiikselmesi muhtemeldir.

A) Sea levels are expected to rise by roughly half
a metre by the year 2100 if thermal expansion
continues and the glaciers continue to melt at
the same speed.

B) Due to the thermal expansion of ocean water
and the constant melting of glaciers, it seems
likely that sea levels will have risen by at least
half a metre by the year 2100.

C) With the thermal expansion of ocean water
and the rapid melting of glaciers it seems that
sea levels are set to rise by up to half a metre
by the year 2100.

D) Because of the thermal expansion of ocean
water and the accelerated melting of glaciers,
sea levels are likely to rise by approximately
half a metre by the year 2100.

E) A rise in sea levels of about half a metre will
result by the year 2100 because of the
thermal expansion of ocean water and the
rapid melting of the glaciers.



Avrupa tarihindeki savaslarin ¢ogu, giic
dengesinin yeniden kurulmasini sagladiklan
gerekgesiye hakl gosterilmistir.

A) Most of the wars in European history are
regarded as justifiable since the alleged
purpose was to maintain the balance of
power.

B) In the course of European history, the majority
of the wars were fought to maintain the
balance of power and so they were said to be
justified.

C) The need to maintain the balance of power
was the alleged reason for the majority of the
wars fought in Europe and this justified them.
D) Most of the wars fought in Europe have
sought to restore the balance of power and so
they have been regarded as justifiable.

E) Most of the wars in European history have
been justified on the grounds that they helped
to restore the balance of power.



israil devletinin ilk basbakani olan David
Ben-Gurion, sadece iinliiu bir hatip ve verimli
bir yazar degil, ayni zamanda ciddi bir incil ve
felsefe arastirmacisiydi.

A) David Ben-Gurion, besides being the first
prime minister of the state of Israel, was a
notable orator and a prolific writer as well as a
knowledgeable student of the Bible and
philosophy.

B) David Ben-Gurion, the first prime minister of
the state of Israel, was not only a notable
orator and prolific writer but also a serious
student of the Bible and philosophy.

C) In addition to being Israel's first prime
minister, David Ben-Gurion, was also an
excellent orator and a prolific writer as well as
being an avid student of the Bible and
philosophy.

D) Israel's first prime minister, David Ben-Gurion,
was not only a much admired orator and
prolific author but was also interested in the
Bible and philosophy.

E) David Ben-Gurion, who was the first prime
minister of the state of Israel, was a brilliant
orator and prolific author, besides being an
authority on the Bible and philosophy.
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Yakin zamanda yayimlanan “The Price Of
Admiralty” adh kitabinda, tarih¢i John Keegan,
sadece kazananin nigin kazandigini ortaya,
koymak igin bazi olaganiistii deniz savaslarini
irdelemektedir.

A) Recently, hoping to come to an understanding
of exactly why the winner did win, the

historian John Keegan has examined a

number of significant naval battles and

records his findings in “The Price Of

Admiralty”.

B) The historian John Keegan recently published
a book entitled “The Price Of Admiralty” in
which several extraordinary naval battles are
analysed to find out why the winner won.

C) In “The Price Of Admiralty”, that has just come
out, John Keegan examines several unusual
naval battles with a view to explaining exactly
why the winner won.

D) In his recently published book entitled “The
Price Of Admiralty”, the historian John

Keegan analyses some extraordinary naval
battles to discover just why the winner won.

E) “The Price Of Admiralty”, written by the
historian John Keegan, analyses a variety of
naval battles, and suggests why, in each

case, the winner did win.
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iklim degisikligi Gizerine hazirlanan bir

rapora gére, oniimiizdeki 25 yil iginde,
ozellikle Afrika, Akdeniz gevresi ve Orta
Asya'da milyonlarca insan ciddi su kithgindan
etkilenecek.

A) The report on climate change clearly shows
that millions of people, mostly in Africa but
also around the Mediterranean and in Central
Asia, are going to be badly affected by water
shortages within the next 25 year.

B) According to this report on climate change,
millions of people, mostly in Africa and around
the Mediterranean and in Central Asia are,
within the next 25 yea™, likely to be adversely
affected by water shortages.

C) According to a report on climate change,
within the next 25 years, millions of people
especially in Africa, around the
Mediterranean, and in Central Asia, will be
affected by serious water shortages.

D) Within the next 25 years, millions of people
will be affected by water shortages, especially
in Africa, around the Mediterranean and in
Central Asia, at least that is what the report on
climate change suggests.

E) According to the report on climate change,
millions of people, especially those living in
Africa, around the Mediterranean and In
Central Asia, are going to suffer from severe
water shortages for at least 25 years.
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Sosyal psikoloji agisindan bakildiginda,
kiltiriin insanlar arasinda yayilmasi, insane
dogasindaki, ¢ogunlugu ve en basaril kisieri
taklit etme egilimiyle iliskilendirilebilir.

A) Considered from the point of view of social
psychology, the spread of culture among
humans can be related to the tendency in
human nature to imitate the majority and the
most successful individuals.

B) From the point or view of social psychology,
the spread of a culture seems to relate to
man's desire to imitate either the majority or
the most successful people.

C) The spread of a culture, if we consider it from
the point of view of social psychology, seems
to be related to man's need to conform with
the majority and successful individuals.

D) As regards social psychology, the desire to
stay with the majority and admire the
successful has been a paramount force in the
spread of culture.

E) The spread of culture is the result of social
psychology whereby man has a tendency to
imitate the majority and the most successful
individuals.
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Malthus, 6z olarak, eger niifus ge¢im
imkanlarindan daha hizli artarsa, bunun daha
diisiik bir yagsam diizeyine yol agacagini iddia
ediyordu.

A) In essence, what Malthus claimed was that
when a population increased faster than the
means of subsistence, living standards
dropped.

B) Malthus claimed in essence that, if a
population increased faster than the means of
subsistence, this would lead to lower living
standards.

C) The essence of what Malthus suggested was
that if a population increased faster than the
means of subsistence. a lowering of living
standards could be inevitable.

D) The claim of Malthus was that a lowering of
living standards was inevitable as the
population had grown faster than the means
of subsistence.

E) According to Malthus, living standards would
naturally fall as the population was growing
faster than the means of subsistence.
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On altinci yiizyilda Doguya yeni yollar
kesfedilince, Akdeniz ticaretine hakim olan
Cenova ve Venedik gibi italyan sehirlerinin
glcii ve zenginligi azalmaya bagladi.

A) Once new routes to the East were discovered
in the sixteenth century, Italian cities like
Genoa and Venice could no longer dominate
Mediterranean trade, so they lost their wealth
and power.

B) With the discovery of new routes to the East
in the sixteenth century, the wealth and power
of such Italian cities as Genoa and Venice,
which depended on Medilerranean trade,
began to decline.

C) The wealth and power of certain Italian cities
such as Genoa and Venice, which depended

on Mediterranean trade, went into a decline
after new routes to the East were opened in
the sixteenth century.

D) Following the discovery in the sixteenth
century of new routes to the East, the Italian
towns of Genoa and Venice lost their power
and their wealth with the decline in
Mediterranean trade.

E) When new routes to the East were discovered
in the sixleenth century, the power and

wealth of Italian cities like Genoa and Venice,
which dominated Mediterranean trade, began
to decline.
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Sonunda ormanin kenarina ulastigimizda,

uzun siire orada durduk ve 6nimiizde uzayip
giden manzarayi seyrettik.

A) With the forest finally behind us, we stood for
a long time looking at the countryside ahead

of us.

B) On finally getting through to the edge of the
forest we paused for a while, to look at the
landscape that stretched out before us.

C) Once we had got through the forest, we
paused to look at the landscape that lay

ahead of us.

D) When we finally got to the edge 01 the forest,
we stood there for a long while and looked at
the landscape that stretched out before us.

E) When we finally came out of the forest we
stood there, gazing for a long time at the
countryside in front of us.



Bu kisa oykiide, yazar, diinyada her iilkeye
seyahat etmek ve her kitabi okumak isteyen,
ancak bu imkansiz ihtirasi gergceklestiremeyen
bir kisinin duygularini anlatmaktadir.

A) In this short story, the writer describes the
feelings of a man who wanted to travel trough
every country in the world and read every
book, but who could not achieve this
impossible ambition.

B) This short story is about a man who dreamed
of travelling through every country in the world
and reading every book, but this was
impossible and couldn't be achieved.

C) The man in this shorl story wanted to travel
through every country in the world and read
all the books, but this was an impossible
dream, never to be realised.

D) The feelings of a man who wanted to travel
through every country in the world and read
all the books, but failed to achieve his
ambition, are the subject of this story.

E) The feelings of a man who had resolved to
travel through every country in the world and
read all the books but who failed to reach his
goal are described in this shorl story.
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2001 Kasim

Yag ve kolesterol iceren et, siit, peynir ve
yumurta gibi cogu gidalar, ayni zamanda yiiksek
nitelikli proteinleri ve degerli vitaminleri saglar.
A. Meat, milk, cheese, eggs and many other
foods, which contain fat and cholesterol, also
contain high-quality protein as well as all the
necessary vitamins.

B. Many high-quality proteins and useful vitamins
are mostly found in such foods as meat, milk,
cheese and eggs that also contain fat and
cholesterol.

C. Most of the high-quality protein and vitaminrich
foods like meat, milk, cheese and eggs

also contain fat and cholesterol.

D. Fat and cholesterol are present in many foods
including meat, milk, cheese and eggs, but so
also are some essential vitamins and highgrade
proteins.



Bir canlinin biiyiime siirecinde en dikkate deger
yonlerden biri, organizmanin her bir pargasinin
biiyiirken, bir yandan da islevini siirdiirmesidir.
A. The fact that every part of an organism

can function during the normal growth

process of any living being is truly

amazing.

B. Surprisingly enough, each part of an
organism continues to function even

during the growth process itself.

C. The very fact that each part of an

organism continues to function as it grow

is surely the most fascinating aspect of

the growth process of a living being.

D. One of the most remarkable aspects in

the growth process of a living being is that
each part of the organism continues to
function as it grows.

E. One of the really fantastic aspects in the
growth process of living beings is the

ability of parts of the organism to continue
functioning in the normal way.



On ikinci yiizyilin baslarinda bulunan ve
mimaride 6nemli bir teknik yenilik olarak kabul
edilen "sivri kemer", Ortagag’da dncelikle
katedrallerin yapiminda kullaniimistir.

A. The invention of the "pointed arch" early in the
twelfth century marks an important advance in
architectural technology though in the Middle
Ages it was used primarily in the construction

of cathedrals.

B. The "pointed arch" that since the Middle Ages
has mainly been used in the construction of
cathedrals was invented early in the twelfth
century and is regarded as an important
technical invention in architecture.

C. The "pointed arch", which was invented at the
beginning of the twelfth century and has been
recognized in architecture as an important
technical innovation, was used in the Middle
Ages primarily in the construction of

cathedrals.

D. With the invention of the "pointed arch" early in
the twelfth century, the mode of construction of
cathedrals was changed so as to incorporate

this important technical advance in

architecture in the Middle Ages.

E. The "pointed arch" has been primarily used in
the construction of cathedrals since the Middle
Ages when, in the twelfth century, this
important technical innovation was first
introduced.
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Bilim, pek ¢cok bakimdan insan aklinin diger
yaratici etkinliklerine benzeyen yaratici bir
etkinliktir.

A. Creative activities such as science all have
something in common with the other creative
activities of the human mind.

B. Science is a creative activity that in many
respects resembles other creative activities of
the human mind.

C. The other creative activities of the human mind
are in many respects actually not very different
from the scientific one.

D. As a creative activity, science is not very
different from various other creative activities
of the human mind.

E. In certain respects, science is a creative
activity that closely resembles the other
creative activities of the human mind.



1953'te Birlesmis Milletler Genel Sekreteri
secilmis olan isvegli devlet adami Dag
Hammarskjold, 1961'de Afrika'da baris isin
arabuluculuk yaptigi sirada bir ugak kazasinda éldii.
A. Dag Hammarskjold, the Swedish
statesman, who had been Secretary-
General of the United Nations since 1953,
died in a plane crash in Africain 1961

while negotiating for peace there.

B. Dag Hammarskjold, who died in 1961 in
an air crash while mediating for peace in
Africa, had been elected Secretary-
General of the United Nations in 1953.

C. The Swedish statesman Dag
Hammarskjold, who had, in 1953, been
elected Secretary-General of the United
Nations, was killed in an air crash in 1961
while mediating for peace in Africa.

D. In 1961, during peace negotiations in
Africa, the Swedish statesman Dag
Hammarskjold, who had been the United
Nations's Secretary-General since 1953,
died in an air disaster.

E. In 1961, while peace negotiations were
continuing in Africa, Dag Hammarskjold,
the Swedish statesman who had acted as
Secretary-General to the United Nations

in 1953, was killed in an air crash.

:oko:

236



Bir kiitiiphaneye gidip raflardaki kitaplara goz
attigimizda bunlarin sayisi ve gesitliligi karsisinda
sasirmadan edemeyiz.

A. There are so many books on the shelves
in the library that, when one enters, one
can hardly believe that such variety is
possible.

B. On entering the library and seeing all the
books on the shelves, we couldn't help
feeling astounded at the number and
variety of them.

C. The books on the shelves in the library
were so numerous and so varied that it
was impossible for us not to feel
bewildered by them all.

D. On entering a library and seeing the
books on the shelves there, it's hard for
one not to feel astonished at their number
and variety.

E. On entering a library and glancing at the
books on the shelves, we cannot help
being bewildered by their number and
variety.
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Bir roman, bir kisa 6ykii, bir oyun veya bir siir
okurken, sadece baskalarinin deneyimlerini
tanimakla kalmiyoruz, ayni zamanda kendi
deneyimlerimizi daha iyi anliyoruz.

A. As we read a novel, a short story, a play
or a poem we not only get to know the
experiences of others but also understand
our own experiences better.

B. On reading a novel, a short story, a play
or a poem we have a chance to

understand the experiences of others
better than our own.

C. A novel, a short story, a play or a poem
are means by which we can come to a
better understanding of others'
experiences in addition to our own.

D. We gain a better understanding of our
own experiences while participating in
those of others while reading a novel, a
short story, a play or a poem.

E. Through participating in the experiences
of others as we read a novel, a short

story, a play or a poem, we gain a better
insight into our own experiences.
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1980'lerde, tiim azgeligmis lilkelerin toplam
ihracatindaki mamul egya orani, birdenbire yiizde
15'lerden yiizde 50'lere yiikselmigtir.

A. By the 1980s, the less-developed countries
were all exporting, not around 15 per cent, as
formerly, but around 50 per cent of their
manufactured goods.

B. Through the 1980s, all the less-developed
countries suddenly increased their export of
manufactured goods from roughly 15 per cent
of their total exports to nearly 50 per cent.

C. During the 1980s, the proportion of
manufactured goods in total exports of all the
less-developed countries rose sharply from
about 15 per cent to about 50 per cent.

D. The ratio of manufactured goods as opposed
to others in the exports of the less-developed
countries rose rapidly throughout the 1980s
from a mere 15 per cent to about 50 per cent.
E. By the 1980s, the proportion of manufactured
goods in total exports of certain lessdeveloped
countries rose abruptly by 15 per

cent to nearly 50 per cent.
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Uluslararasi Kahve Antlagmasi, iiretici ve
tiiketici lilkelerin gikarlarinin farkh olmasi nedeniyle
1989'da ¢okmiistiir.

A. The International Coffee Agreement collapsed
in 1989 because of the differing interests of
producer and consumer countries.

B. By 1989 the International Coffee Agreement
had collapsed due to the fact that neither the
producer nor the consumer countries were
satisfied with it.

C. The collapse of the International Coffee
Agreement in 1989 was in the interest of
neither the consumer nor the producer
countries.

D. The self-interest of consumer and producer
countries alike resulted in the break-down of
the International Coffee Agreement, in 1989.
E. With the break-down of the International
Coffee Agreement in 1989, the differing
interests of consumer and producer countries
surfaced.



Savas sonrasi donemde Diinya Bankasi, ener;ji,
sulama ve ulagim yatirimlari yaparak kalkinmakta
olan iilkelerin altyapilarinin iyilesmesine biiyiik
katki saglamistir.

A. The World Bank's investments in power,
irrigation and roads in the post-war years
resulted in an impressive improvement in the
infrastructure of developing countries.

B. After the war, the World Bank made an
impressive contribution to improvements in the
infrastructure of developing countries by
encouraging investments in power, irrigation
and transport.

C. In the post-war period, the World Bank greatly
contributed, through investments made in
power, irrigation and transport, to the
improvement of the infrastructure in

developing countries.

D. The improvement of the infrastructure of
developing countries immediately after the war
was in large measure due to the World Bank
investments in energy, irrigation and road
systems.

E. The infrastructure of developing countries only
began to improve after the World Bank began

to invest heavily in energy, irrigation and
transport in the post-war period.
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2002 Mayis 43-52

Ulkemizde parlamento tarafindan
onaylanmis olan herhangi bir uluslararasi
antlasma, yasa statiisii kazanir.

A) An international treaty is legally binding
in a country only after it has received
parliamentary recognition.

B) In this country, if an international treaty
is recognized by Parliament, it is legally
binding.

C) An international treaty is only legal in
our country after it has been discussed

by Parliament.

D) No international treaty has a legal status
in any country until Parliament has
approved it.

E) In our country, any international treaty
that is approved by Parliament,

acquires the status of a law.



Reklamcilar, miizigi, sozciiklerle etkili bir
sekilde ifade edilemeyecek anlamlari
iletmek i¢in kullanir.

A) Advertisers use music to great effect to
express what words cannot say in a
convincing manner.

B) Advertisers make use of music to
communicate meanings that words
cannot effectively and concisely

express.

C) Since music can express concisely what
words cannot express, advertisers

make much use of it.

D) Advertisers use music to communicate
meanings that cannot be effectively put
into words.

E) As music can suggest certain meanings
more effectively than words, much use

is made of it by advertisers.



Bu rapor, tibbi bakim eksikligi

sonucunda, gelismekte olan lilkelerde
bir¢ok cocugun bir yasina bile gelmeden
6ldiigii gergegini vurguluyor.

A) It is stressed in this report that the death
of so many children before the age of

one in the developing countries could

be prevented by better health services.

B) According to this report it is definite that
many children in the developing

countries die before they reach the age

of one year as health facilities are so
inadequate.

C) This report emphasizes the fact that as
a result of inadequate medical care,

many children in developing countries

die before they reach even one year

old.

D) According to this very emphatic report,
children under one year old in the
developing countries die because of the
lack of medical care.

E) As this report underlines, it is the lack of
medical care that is responsible for so
many deaths among children who

haven't even reached their first birthday
in the developing countries.
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New Deal séziiyle 1929'un sonunda
patlak veren biiyiik ekonomik bunalimi
asmak igin 1933'te Amerika Birlesik
Devletleri'nde Bagkan Roosevelt'in aldigi
onlemler ifade edilmektedir.

A) In order to deal with the great economic
crisis that had broken out in the United
States of America at the end of 1929,
President Roosevelt implemented the
measures known as the New Deal in
1933.

B) In 1929 and again in 1933, President
Roosevelt introduced the New Deal, a
series of measures designed to put an
end to the great economic crisis which
had broken out in the United States of
America.

C) The measures known as the New Deal
were designed by President Roosevelt

in 1933 to put an end to the great
economic crisis that broke out in the
United States of America at the end of
1929.

D) By the term New Deal is meant the
measures taken by President Roosevelt
in the United States of America in 1933
to overcome the great economic crisis
which broke out at the end of 1929.

E) The measures known by the term New
Deal, implemented by President
Roosevelt in the United States of
America in 1933, succeeded in
overcoming the great economic crisis
that broke out in 1929.
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Pek ¢ok iktisatgi, sanayilesme siirecinde
olan ulkelerde kapitalizm gelistikge,
kiigiik isletmelerin zamanla yok olacagini
iddia etmektedir.

A) Many economists claim that, as
capitalism develops in the countries that
are in the process of industrialization,
small businesses will eventually
disappear.

B) In the opinion of many of these
economists, small businesses will
eventually disappear in those countries
presently undergoing industrialization
and turning to a capitalist system.

C) Many economists presume that, with the
development of capitalism in the
countries now undergoing
industrialization, small businesses are
already disappearing.

D) The process of industrialization in these
countries, together with developing
capitalism, will inevitably, according to
most economists, lead to the closing
down of small businesses.

E) With the spread of industrialization and
the growth of capitalism in these
countries, many economists feel sure

that the small businesses will eventually
close down.
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Verilerin irdelenmesi, olaylari, se¢ilmis
olan bir hedefe dogru yonlendirmede ilk
adimdur.

A) The first step in directing events towards
a specified goal is to rearrange the

data.

B) Analysis of data is the first step in
directing events towards a chosen goal.
C) So as to direct events towards a chosen
goal, one must first analyze the data.

D) The analysis of data is only the first
stage in the directing of events towards

a set goal.

E) Data analysis constitutes the first stage
in directing events towards a new goal.



Baslangicta, "proletarya" terimi, eski
Roma'nin yoksul is¢i siniflarina atifta
bulunmak icin kullaniliyordu.

A) The poor working classes of ancient
Rome were known as the "proletariat”
and that is the origin of the term.

B) To start with, "proletariat” was the term
used to describe the poor workers of
ancient Rome.

C) The term "proletariat" was originally
used to refer to the poor labouring
classes of ancient Rome.

D) The term "proletariat" dates back to
ancient Roman times when it was used
to denote the poor working classes.

E) The poor labouring classes of ancient
Rome were referred to as the
"proletariat" and that is the origin of the
word.



Bir cocuk, dogdugu zaman annesiyle
babasi evliyse "mesru”dur.

A) The parents married when the child was
born, making it "legitimate".

B) A child is said to be "legitimate" if its
parents are married before it is born.

C) A "legitimate" child is one whose
parents are married at the time of its
birth.

D) The child is "legitimate" as, when it was
born, the parents were married.

E) A child is "legitimate" if its parents are
married when it is born.



Il. Diinya Savasi'ndan once Winston
Churchill liderlik icin birinci aday olarak
goriinmiiyordu.

A) Winston Churchill's remarkable
leadership qualities only emerged

during World War Il.

B) Before World War II, Winston Churchill
didn't strike one as having any
remarkable leadership qualities.

C) Winston Churchill hardly appeared to be
a prime candidate for leadership before
World War Il.

D) Until World War Il, the extensive
leadership qualities of Winston Churchill
were not at all apparent.

E) Prior to World War Il, Winston
Churchill's excellent leadership qualities
were not acknowledged.



Evrenin genislemesi, tiim galaksilerin
birbirinden hizla uzaklastigi anlamina
gelmektedir.

A) As the universe expands, all the
galaxies are inevitably fast receding
from each other.

B) The expansion of the universe implies
that all the galaxies have rapidly been
receding from each other.

C) The expansion of the universe entails
the rapid movement of the galaxies
away from each other.

D) As the galaxies move farther apart,
there is a corresponding expansion of
the universe.

E) The expansion of the universe and the
drifting apart of the galaxies are
inextricably related.



2002 Kasim 36-40

* Eger Rusya reform yapacak ve sonuc¢ta miireffeh olacaksa,
guvenli ve istikrarh bir bolgeye ve yeni yatirnmlara ihtiyag
duyacaktir. A) Russia can only reform and consequently
prosper once a safe and stable neighbor exists and new
investments are made. B) Russia will get the reforms she
needs and eventually prosper if the neighborhood
becomes safe and stable and there are new investments.
C) A secure and stable environment and new investments
are essential if Russia is to achieve these reforms and
eventually prosper. D) There will have to be a safe and
stable environment and more investments before Russia
can introduce reforms and consequently prosper. E) If
Russia is to reform and eventually prosper, it will need a
secure and stable neighborhood, and new investments.



Sierra Leone'daki i¢ savas o kadar vahsiydi ki ve biraktigi hasarlar o
kadar aci olmustur ki normal diizene hizh bir doniis imkansizdir. A)
One cannot look for a speedy return to normality in Sierra Leon,
for the civil war there was horrific and the resulting injuries
excessive. B) Since the civil war in Sierra Leone was so barbaric
and the injuries that resulted so grave, a speedy return to
normality is not to be expected. C) The civil war in Sierra Leone
was so barbaric, and the injuries it left so grave, that a swift return
to normality is out of the question. D) The civil war in Sierra Leone
was so horrific and left in its wake so many injured that a return
to normality cannot readily be achieved. E) A quick return to
normality in Sierra Leone is out of the question, for the civil war
was a savage one and the atrocities committed particularly
injurious.



Devletler ¢okiince, sadece teroristlere ve uyusturucu kagakgeilarina
siginak olmaz, ayni zamanda miilteci yiginlarinin zengin lilkelere
yonelmesini tesvik ederler. A) When states collapse, they not only
become havens for terrorists and drug smugglers but also prompt
multitudes of refugees to head for richer countries. B) When
states collapse terrorists and drug smugglers can safely move in
and multitudes of refugees leave for richer countries. C) When
slates collapse, this provides terrorists and drug peddlers with a
safe haven while masses of refugees escape to richer countries. D)
Terrorists and drug peddlers find a haven for themselves when
states collapse, but others flee the country in search of a richer
world. E) Masses of refugees flee to richer countries when states
collapse, but terrorists and drug dealers move into safety.



* Kuveyt'teki en parlak gelisme, Korfez'de, ozellikle
Dubai'de, yaygin bir uygulama olan serbest bolgenin
yvaratilmasidir. A) In imitation of the Gulf and of Dubai, in
particular, Kuwait now has a free zone, which is a most
promising development. B) The creation of a free zone in
Kuwait is a very hopeful sign: the practice is common in
the Gulf, especially in Dubai. C) The brightest
development in Kuwait is the creation of a free zone, a
practice that is common in the Gulf, especially in Dubai. D)
The creation of a free zone in Kuwait on the lines of those
in the Gulf and in Dubai is regarded as a very hopeful sign.
E) The most striking development in Kuwait is the creation
of a free zone, as found commonly in the Gulf and
especially in Dubai.



Amerika Birlesik Devletleri ile Kanada arasinda oldugu gibi, farkl
ekonomileri butunlestirmede ortak bir dil, ortak para biriminden
cok daha yararlidir. A) It is the single language that aids the
integration of different economies as in the case of the US and
Canada, not the monetary system. B) A common language can be
far more useful than a common currency to integrate different
economies, as is the case between the US and Canada. C) As
regards the US and Canada the integration of the different
economics is due more to the single language than to the single
monetary system. D) The integration of the different economies of
the US and Canada owes more to a single language than to a
single monetary system. E) A common language rather than a
common monetary system has made possible the integration of
the different economies of the US and Canada.



2003 Mayis 41-45

Amerikalilar, evlerini isitmak icin dogal gazdan
giines enerjisine kadar c¢esitli enerji kaynaklan
kullanmaktadirlar.

A) In order to heat their homes, Americans prefer to
use different forms of energy, including natural

gas and solar power.

B) Americans use a variety of energy sources, from
natural gas to solar power, to heat their homes.

C) Natural gas and solar power are just two of the
energy sources that Americans use to heat their
homes.

D) Americans favor natural gas and solar power as
the energy sources for heating their homes.

E) In order to heat their homes, Americans seem to
prefer either natural gas or solar energy over other
energy sources.



Hiikiimet giris ticretlerini kaldirir kaldirmaz, ¢ok
daha fazla kisi miizeleri ve sanat galerilerini ziyaret
etmeye basladi.

A) Following the government's ruling for no entrance
charges for museums and art galleries, more and
more people will start to visit them.

B) An increasing number of people had begun to visit
the museums and art galleries even before the
government abolished entrance fees.

C) If the government decides to stop charging
entrance fees for museums and art galleries,

many more people will start to visit them.

D) As soon as the government had abolished
entrance charges, many more people started to

visit the museums and art galleries.

E) Now, as there are no admission charges for
museums and art galleries, following a

government ruling, an increasing number of

people are visiting them.



Uzay mekigi Columbia'nin patlamasi ve
astronotlarinin 6liimi konusunda herkesin
cevaplanmasini istedigi soru ¢ok basit: Neden?

A) The question everyone wants answered as
regards the explosion of the space shuttle
Columbia and the deaths of its astronauts is very
simple: why?

B) Following the explosion of the space shuttle,
Columbia, and the deaths of its astronauts, the
simple question everyone is asking is: why?

C) After the explosion of the space shuttle Columbia
and the deaths of its astronauts, the problem that
worried everyone, was: why?

D) When the space shuttle Columbia exploded and
its crew died, the question everyone was asking
was quite simply: why?

E) When the space shuttle Columbia, together with
all its crew, exploded, everyone asked the same,
simple question: why?



Birlesmis Milletler’in, Filistin'in Yahudi ve Arap
bolgelerine boliinmesini onaylamasi lizerine, 14
Mayis 1948'de israil devleti ilan edildi.

A) Once the United Nations had recommended
partitioning Palestine into Jewish and Arab
regions, the state of Israel could have been
proclaimed on 14 May 1948.

B) Once the partition of Palestine into Jewish and
Arab regions had been approved by the United
Nations, the state of Israel was immediately
proclaimed on 14 May 1948.

C) Upon the United Nations’ approval of the partition
of Palestine into Jewish and Arab territories, the
state of Israel was proclaimed on 14 May 1948.

D) The state of Israel was proclaimed on 14 May
1948 since the United Nations was recommending
the partitioning of Palestine into Jewish and Arab
parts.

E) The state of Israel was proclaimed on 14 May
1948 following the recommendation of the United
Nations that Palestine should be divided into
Jewish and Arab territories.



Aglama, yalnizca insana 6zgii olan gilmenin
tersine, insanin baska bir¢ok hayvanla paylastigi
bir 6zelliktir.

A) In common with many other animals, human
beings laugh but do not cry.

B) Humans, like many other animals, cry, but
laughing seems to be reserved for them alone.

C) Animals and humans alike can cry, but it is only
humans, who laugh.

D) The ability to cry is shared by humans and all
other animals, but not laughter; that is uniquely
human.

E) Crying, as opposed to laughing which is uniquely
human, is a characteristic that humans share with
many other animals.



2003 kasim 41-45

1960'ta Tanzanya'nin Ol Doinyo Lengai
yanardagi patladiginda, alti milyonun lizerinde
agac¢ koklerinden sokuldu.

A) It was the eruption of the Ol Doinyo Lengai
volcano in 1960 that caused the destruction

of over six million trees in Tanzania.

B) When the Ol Doinyo Lengai volcano erupted
in 1960, all Tanzania's six million trees were
uprooted.

C) As a result of the eruption of the Ol Doinyo
Lengai volcano in Tanzania in 1960, nearly

six million trees were uprooted.

D) Over six million trees were uprooted when
Tanzania's Ol Doinyo Lengai volcano erupted

in 1960.

E) In 1960 nearly six million trees were
destroyed in Tanzania following the eruption
of the Ol Doinyo Lengai volcano.



Almanya'nin bagbakani Gerhard Schroder
tarafindan ortaya konan ekonomik reform
planlari, Sosyal Demokrat Parti'nin
kongresinde oybirligi ile onaylandi.

A) The plans for economic reform put forward by
Germany's chancellor, Gerhard Schroder,
were unanimously endorsed at the Social
Democratic Party's congress.

B) Gerhard Schroder, Germany's chancellor,
should have made plans for economic reform,
and they would have been approved at the
Social Democratic Party's congress.

C) At the Social Democratic Party congress, the
plans for economic reform suggested by
Germany's chancellor, Gerhard Schroder,

met with considerable approval.

D) The plans of Gerhard Schroder, Germany's
chancellor, for economic development won
the approval of the entire Social Democratic
Party at their congress.

E) The plans for economic development drawn
up by Gerhard Schroder, Germany's
chancellor, were recently whole-heartedly
approved at the Social Democratic Party's
congress.
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Gelecek yil AB'ye katilmayi bekleyen on
lilkenin hepsi, bu yil sonuna kadar, Nisan'da
imzalamis olduklari katilim antlagsmasini
oylamis olacaklardir.

A) Before the end of the year, the ten countries
expecting to join the EU next year, have to
vote on the accession treaty which they
signed in April.

B) By the end of this year, all ten countries
waiting to join the EU next year, will have
voted on the accession treaty which they
signed in April.

C) All the ten countries hoping to join the EU
next year signed the accession treaty in April
and will vote on it before the end of this year.
D) Ten of the countries waiting to join the EU
next year signed the accession treaty in April
and all will have done so by the end of this
year.

E) All the ten countries expected to join the EU
next year signed the accession treaty in April
and are required to vote on it by the end of
this year.
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Titanik'in gergekte nasil goriindiigiini hayal
etmek, Bilim Miizesi'nde sergilenen egyalarini
gordiikten sonra kolay oluyor.

A) The exhibition of the Titanic's artifacts at the
Science Museum tells us a great deal about
how it looked.

B) | saw the artifacts of the Titanic on exhibition
at the Science Museum, and seeing them
makes it easy for one to imagine how it really
looked.

C) It is easy to imagine how the Titanic really
looked once one has seen its artifacts

exhibited at the Science Museum.

D) Once one has seen its artifacts on view at the
Science Museum, one really knows what the
Titanic looked like.

E) The Titanic really comes to life when once
one sees its artifacts which are on exhibition

at the Science Museum.



Birgcok bakimdan, 1753'iin Londra’si, bugiin
oldugu duruma oldukg¢a benziyordu: biiyiik,
giiriiltulii ve fazla kalabalik.

A) Actually, the London of 1753 was in many
ways not unlike present-day London; it was
big and noisy and terribly crowded.

B) In many ways, the London of 1753 was pretty
similar to the way it is today: huge and noisy
and overcrowded.

C) As regards the size, the noise and the
overcrowding, the London of 1753 was no
different from the London of today.

D) In fact, the London of 1753 resembled the
London of today in many respects, especially
as regards its size, noise and overcrowding.
E) From the point of view of size, noise and
terrible overcrowding, London is now no
different from what it was in 1753.



2004 Mayis 41-45

Most people in the world today recognize that it is
the duty of a government to develop a policy with
regard to the conservation of the environment.
A) Bugiin diinyada pek ¢ok insan, ¢evrenin
korunmasina yonelik bir politika gelistirmenin,
hikimetin gorevi oldugunu kabul etmekledir.

B) Cevrenin korunmasina iliskin bazi politikalar
gelistirmenin bir hiikiimet goérevi oldugu, bugiin
diinyada pek ¢ok insan tarafindan kabul edilen bir
gergektir.

C) Bugiin diinyada pek ¢ok insanin da kabul ettigi
gibi, cevrenin korunmasi konusunda etkili
politikalar izlemek her hikimetin gorevidir.

D) Bir hiikiimetin gorevleri arasinda ¢evrenin
korunmasina yonelik politikalar ortaya koymanin
da bulundugu, bugiin diinyada pek ¢ok insanin
benimsedigi bir konudur.

E) Cevrenin korunmasiyla ilgili politikalar
benimsemenin bir hiikiimetin temel gérevi oldugu
bugiin diinyada pek ¢ok insan tarafindan kabul
edilmektedir.



Abu Dhabi may be the largest and wealthiest of

the seven emirates that constitute the United Arab
Emirates, but it is Dubai that has come to the fore.
A) Her ne kadar Dubai ¢ok bilinse de Abu Dabi,
Birlesik Arap Emirlikleri'ni kuran yedi emirligin en
bliylugu ve en zengini olarak gordulebilir.

B) Birlesik Arap Emirlikleri'ni olusturan yedi emirlikten
en blyldgl ve en zengini Abu Dabi'dir, ancak
bunlardan en ¢ok bilineni Dubai'dir.

C) Birlesik Arap Emirlikleri'ni olusturan yedi emirlikten
biri olan Abu Dabi, bunlarin en biyigi ve en
zenginidir ama Dubai daha cok bilinir.

D) Abu Dabi, Birlesik Arap Emirlikleri'ni olusturan yedi
emirligin en buyugul ve en zengini olabilir, ancak

one ¢cikmis olan Dubai'dir.

E) Dubai daha iyi taninmakla birlikte, Abu Dabi'nin
Birlesik Arap Emirlikleri'ni olusturan yedi emirligin

en buyugu ve en zengini oldugu kabul edilebilir.



In some parts of the world, many believe that
politics is not a suitable job for women, but
eventually such opposition seems likely to
disappear.

A) Dlinyanin gesitli bolgelerinde birgok insan siyaseti
kadinlar igin uygun bir ugras olarak
gormemektedir; ancak bu tiir muhalefet zamanla
yok olacaktir.

B) Dlinyanin bazi bélgelerinde pek ¢ok kisi siyasetin
kadinlar i¢in uygun bir ugras olmadigina
inanmaktadir; ancak bu tiir muhalefet zamanla
ortadan kalkacak gibi gdriinmektedir.

C) Birgok insan siyasetin kadinlara uygun bir is
olmadigini disinmektedir; ancak diinyanin pek
cok yerinde bu muhalefetin zamanla yok

olacagina inaniimaktadir.

D) Diinyanin gesitli bolgelerinde ¢ogu insan siyasetin
kadinlara uygun bir ugras olduguna kesinlikle
inanmamaktadir; ancak bu muhalefet zamanla
Onemini yitirecektir.

E) Pek ¢ok kisi siyaseti diinyanin bazi bolgelerinde,
kadinlarin yapabilecegi bir ugras olarak
gormemektedir; ancak bu tiir muhalefetin zamanla
Onemini yitirecegine inaniimaktadir.
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The strategic importance of Malta was first
recognized by the Phoenicians, who occupied it
and established a trade colony there.

A) Malta'nin stratejik 6nemini ilk anlayan Fenikeliler,
burayi isgal ettiler ve burada bir ticaret kolonisi
kurdular.

B) Malta'nin stratejik 6nemi nedeniyle burayi isgal
eden Fenikeliler, ilk 6nce bir ticaret kolonisi
kurdular.

C) Malta’nin stratejik 6nemi, ilk kez, arayi isgal eden
ve orada bir ticaret kolonisi kuran Fenikelilerce
anlasiimistir.

D) ilk kez Fenikeliler tarafindan isgal edilen Malta'nin
stratejik 6nemi hemen anlasildi ve burada bir
ticaret kolonisi kuruldu.

E) Malta'nin stratejik 6nemini anlayarak burayi isgal
eden Fenikeliler, ilk ticaret kolonisini burada
kurdular.



Analysis of the reddish surface soil of Mars points
to the presence of oxidized iron, indicating that at
the planet's surface is rusting.

A) Mars'in kizihmsi ylizey topraginin analizi,
gezegenin ylzeyinin paslanmakta oldugunu
gosteren oksitlenmis demirin varligina isaret
etmektedir.

B) Mars'in kizilimsi ylizey topragi analiz edildiginde,
oksitlenmis demirin varligi nedeniyle gezegen
ylzeyinin paslanmakta oldugu gorilir.

C) Mars'in kizihmsi ylizey topraginin analizi,
oksitlenmis demirin varligini gostermektedir ve
gezegen ylzeyinin paslanmasinin nedeni de

budur.

D) Mars'in kizilimsi ylizey topraginin analizinden,
oksitlenmis demir varliginin, gezegen ylizeyinin
paslanmasina yol actigi anlasiimaktadir

E) Mars'in kizihmsi ylizey topraginin analizi ile,
oksitlenmis demir varligina bagli olarak gezegen
ylzeyinin paslanmakta oldugu belirlenmistir



2004 Kasim 41-45

Nicholas Gane'in yeni yayimlanan kitabi1 Toplum
Kuraminin Gelecegi, diinyanin énde gelen toplum
kuramcilariile yapilan bir dizi miilakati bir araya
getirmektedir.

A) The newly published book, The Future of Social
Theory by Nicholas Gene, draws heavily on a
series of interviews conducted by the world's
leading social theorists.

B) Nicholas Gane's newly published book The
Future of Social Theory brings together a series

of interviews held with the world's leading social
theorists.

C) A series of interviews with the world's leading
social theorists was the starting point for

Nicholas Gane's newly published The Future of
Social Theory.

D) Nicholas Gane interviewed some of the world's
leading social theorists before writing The Future
of Social Theory which has recently been
published.

E) Nicholas Gane's newly published book The
Future of Social Theory makes extensive use of
interviews between the writer and the world's
leading social theorists.



1 Mayis 2004'te on yeni iilkenin Avrupa Birligi'ne
girisi Demir Perde ile zorla béliinmiis bir kitanin
bir araya gelisini simgelemektedir.

A) The entrance, on1l May 2004, of ten new
countries to the European Union symbolizes the
coming together of a continent forced apart by
the Iron Curtain.

B) Ten new countries joined European Union on 1
May 2004 symbolizing the reunion of a continent
forced apart by the Iron Curtain.

C) On 1 May 2004, when ten new countries entered
the European Union, the forced division of a
continent by the Iron Curtain symbolically came
to an end.

D) The entrance of ten new countries to the
European Union on 1 May 2004 can also be
regarded as symbolizing the reunion of a
continent forced apart by the Iron Curtain.

E) With the entrance of ten new countries to the
European Union on 1 May2004, the symbolic
division of a continent by the Iron Curtain was
finally broken.



BM Giivenlik Konseyi kitle imha silahlarina sahip
olmayi, bunlari iiretmeyi ve bunlarin kagakgihgini
yapmayi sug saymalari igin lilkelere ¢agrida
bulunan bir karari oybirligiyle almistir.

A) The possession, manufacture and trafficking of
weapons of mass destruction have been banned
in all countries following a resolution to this
effect unanimously passed by the UN Security
Council.

B) Presumably, the UN Security Council will
unanimously pass a resolution to demand that

all countries criminalize the possession,
manufacture and trafficking of weapons of mass
destruction.

C) The possession, manufacture and trafficking of
weapons of mass destruction have been
criminalized in some countries following the
passing of a unanimous resolution by the UN
Security Council.

D) In line with a resolution of the UN Security
Council, countries have all made the

possession, manufacture and trafficking of
weapons of mass destruction illegal.

E) The UN Security Council has unanimously
passed resolution calling upon countries to
criminalize the possession, manufacture and
trafficking of weapons of mass destruction.
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Edebiyat elestirisi lizerine yeni bir kitap yazmig
olan Mary Williams, giiniimiiziin en etkili ve
6zgiin edebiyat elestirmenlerinden ve feminist
disiiniirlerinden biridir.

A) Mary Williams, a feminist thinker, has brought
out a new book which is about the most
influential and original literary critics of our time.
B) Mary Williams, who is one of the most
successful and original critics of our time, has
written a new book on literary criticism and
feminist thinking.

C) Mary Williams, who has written a new book on
literary criticism, is one of the most influential
and original literary critics and feminist thinkers
of our time.

D) One of the most impressive and innovative
literary critics of our age is Mary Williams, a
feminist thinker, who has brought out a new
book on literary criticism.

E) The new book on literary criticism written by
Mary Williams establishes her as one of the
most influential and stimulating of the feminist
critics of our age.
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Osmanli imparatorlugu déneminde, Selanik
sehrinde ilk futbol magini diizenleyenler, ingiliz
tiitiin ve pamuk tiiccarlariydi.

A) It was during the period of the Ottoman Empire
that the first football match in the city of Salonika
was organized by British tobacco and cotton
traders.

B) It was British tobacco and cotton traders who
organized the first football match in the city of
Salonika during the period of the Ottoman
Empire.

C) The first football match to be organized by
British tobacco and cotton traders was in the city
of Salonika during the period of the Ottoman
Empire.

D) British tobacco and cotton traders held their first
football match in Salonika during the time of the
Ottoman Empire.

E) The first football match to be held in Salonika
was during the time of the Ottoman Empire and
was organized by British tobacco and cotton
traders.



2005 Mayis 41-45

ingiltere ve Cin Halk Cumhuriyeti, iki yil siiren
siki miizakerelerden sonra, Hong Kong'un 1
Temmuz 1997'de Cin egemenligine dénmesi
hususunda anlastilar.

A) Much arduous bargaining was needed before
Britain and the People's Republic of China
agreed that Hong Kong should return to
Chinese sovereignty on 1 July 1997.

B) It took two years of painstaking negotiation
before Britain could agree with the People's
Republic of China that Hong Kong should
return to Chinese sovereignty on 1 July 1997.
C) On 1 July 1997, after two years of prolonged
negotiation, it was finally agreed between
Britain and the People's Republic of China
that Hong Kong should return to Chinese
sovereignty.

D) The question of whether Hong Kong should
return to Chinese sovereignty on 1 July 1997
was finally agreed on after much arduous
bargaining between Britain and the People's
Republic of China.

E) After two years of painstaking negotiation,
Britain and the People's Republic of China
agreed that Hong Kong would return to
Chinese sovereignty on 1 July 1997.



Farkh konumdaki bireylerin farkh 6zellikleri
oldugundan, kaynak ve oédiillerin nasil
dagitilacagina iliskin goriislerinde de dogal
olarak farkhiliklar vardir

A) Since individuals in different positions have
different interests and attributes, they
naturally have differences in opinion about
how resources and rewards should be
distributed.

B) It is only natural that there should be
differences in opinion about how resources
and rewards should be distributed, as people
in different positions have different interests
and attributes.

C) Obviously, among individuals in different
positions with different interests and
attributes, there will be differences in opinion
about how resources and rewards should be
distributed.

D) Since individuals in different positions have
different interests and attributes, it is only
natural that they should disagree about how
resources and rewards can be distributed.

E) Individuals in different positions, with different
interests and attributes, will obviously
disagree about what is the fair distribution of
resources and rewards.
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Altin Gana'nin en biiyiik doviz kaynagi oldugu
icin, dalgalanan altin fiyatlan iilkenin
ekonomisini felg etmistir.

A) The crippling of Ghana's economy is the
result of the fluctuating gold prices as gold is
the country's primary source of foreign
exchange.

B) As gold is still Ghana's largest source of
foreign exchange, the country's economy is
being badly affected by the fluctuating price
of gold.

C) Fluctuating gold prices would inevitably
cripple Ghana's economy as gold is Ghana's
major source of foreign exchange.

D) As gold is Ghana's largest source of foreign
exchange, fluctuating gold prices have
crippled the country's economy.

E) If gold were Ghana's primary source of
foreign exchange, the country's economy
would be badly affected by the fluctuating
price of gold.



Atmosferdeki oksijenin yaklasik % 20'sl
Amazon yagmur ormanlarindaki dev agaglar
tarafindan uretilir ve bu miktar, ayni alan kadar
¢imenin iireteceginden ¢ok daha fazladir.

A) Because of the giant trees, the Amazonian
rain forests can produce 20% of the oxygen

in the atmosphere, which is a great deal more
than a similar area of grassland can produce.
B) The giant trees of the Amazonian rain forests
actually produce 20% of the oxygen in the
atmosphere; the same area of grass could

not produce quite so much.

C) On their own, the Amazonian rain forests,
with their giant trees, are responsible for at
least 20% of the oxygen in the atmosphere,
which is a far greater amount than a similar
area of grassland could produce.

D) About 20% of the oxygen in the atmosphere
is produced by the giant trees of the
Amazonian rain forests, and this amount is
much more than the same area of grass

would produce.

E) While the giant trees of the Amazon rain
forests produce more than 20% of the oxygen
in the atmosphere, the same area of

grassland could not produce nearly as much

as this.
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Diinyanin doniisii, ekvatorda yasayanlarin
agirhginda, ingiltere'dekilere gore % 0, 3'liik bir
azalma meydana getirir.

A) Those living at the equator are lighter than
those living in England by 0.3% owing to the
rotation of the Earth.

B) The rotation of the Earth produces a 0.3%
reduction in weight for those living at the
equator compared to those in England.

C) One effect of the Earth's rotation is to make
those living at the equator 0.3% lighter than
those living in England. :

D) One effect of the Earth's rotation is to make
the weight of people increase by 0.3% as

they move from England to the equator.

E) People's weight drops roughly by 0.3% as
they move from England to the equator,
owing to the rotation of the Earth.



2005 Kasim 41-45

Avrupa’da ortak bir pazar icin ilk plani daha 1943-
44’lerde tasarlayan, Hollanda eski disisleri bakani
J. W. Beyen idi.

A) Before 1943 or 1944, it was a former Dutch
foreign minister, J. W. Beyen, who first

announced a plan for a common market in

Europe.

B) As early as 1943-44, the first plan for the common
European market was drawn up by J. W. Beyen,
Holland’s former foreign minister.

C) The first plan for Europe’s common market dates
from 1943-44 and was drawn up by J. W. Beyen,

a former Dutch foreign minister.

D) It was J. W. Beyen, a former Dutch foreign
minister, who, as early as 1943-44, drafted the

first plan for a common market in Europe.

E) As far back as 1943-44 J. W. Beyen, who at the
time was the Dutch foreign minister, drew up the
first plan for a European common market.



Bizimki sadece kiiglik bir nakliye sirketi oldugu
icin navlundan indirim yapmamiz maalesef
mimkiin degildir.

A) Since ours is only a small transport company, I’'m
afraid it is impossible for us to make a discount on
the sea freight.

B) As our transport company is rather small, we
sometimes manage to offer a discount on the sea
freight.

C) Though ours is quite a small transport company, it
shouldn’t be impossible for us to arrange a
discount on the sea freight.

D) I am sorry but, as this is only a small transport
company, it would be unreasonable to expect a
discount on the sea freight.

E) A small transport company such as ours cannot
reasonably be expected to offer any discount on
the sea freight.



Dicle lizerinde yapilan kaya dolgu yeni baraj, en
siddetli depremlere dayanacak kadar saglamdir.

A) The new rock-fill dam built on the Tigris has been
designed so as to stand firmly even in the event

of a violent earthquake.

B) There is a new rock-fill dam on the Tigris which
has been constructed to be strong enough to
withstand the most severe of earthquakes.

C) The new rock-fill dam, built on the Tigris, is strong
enough to withstand the most severe

earthquakes.

D) Even an extremely violent earthquake could not
damage the new rock-fill dam constructed on the
Tigris.

E) The new rock-fill dam on the Tigris was built so
solidly that even a severe earthquake couldn’t

pose a threat.



ingiltere’de iki milyondan fazla kisi, Avrupa
Birligi’'nce izin verilen yiiksek diizeyin gok

Uzerinde aliiminyum iceren musluk suyu
icmektedir.

A) The European Union only permits a certain level
of aluminium in the drink water, but more than two
million people in Britain drink tap water exceeding
this level.

B) There are two million people in Britain today who
drink tap water containing a higher level of
aluminium than that allowed by the European
Union.

C) The European Union is concerned that over two
million people in Britain are drinking tap water

with an unacceptably high aluminium level.

D) The level of aluminium in the tap water that over
two million people drink in Britain today exceeds
what the European Union permits

E) In Britain, over two million people drink tap water
which contains aluminium well over the maximum
level permitted by the European Union.



Sili’li segmenler, 1990’da ve tekrar 1996’da, ortasol
koalisyonlarin segilmesi ile demokrasiye

gegcis siirecine onay verdiler.

A) The Chilean electorate approved the transition to
democracy in both the 1990 and 1996 elections in
which a centre-left coalition was elected.

B) As in 1990, so in 1996, the Chilean voters showed
their approval of the transition to democracy by
electing a coalition of the centre-left.

C) The transition to democracy in Chile was aided by
the election in 1990 and also in 1996 of a centralleft
coalition.

D) In 1990 and again in 1996, through the election of
centre-left coalitions, the Chilean electorate
endorsed the process of transition to democracy.

E) The election, by the Chilean voters, of a centreleft
coalition in 1990 and again in 1996

strengthened the transition process for

democracy.



2006 Mayis 41-45

Yaklasik olarak M.0. 8. yiizyilda Homer tarafindan
kaleme alinan Truva Savasi hakkindaki destanlar,
birkag yiizyil boyunca s6zlii olarak korunmus olabilir.
A) Homer’s epics about the Trojan War were written
down, probably in the 8th century B.C., but may
have been around for centuries in oral form.

B) Homer apparently wrote down the epics of the
Trojan War sometime in the 8th century B.C., but
they had already existed in oral form for

centuries.

C) The Trojan War epics had probably existed for
centuries in oral form before they were finally
transcribed by Homer sometime in the 8th

century B.C.

D) The epics about the Trojan War written down by
Homer in about the 8th century B.C. may have

been preserved orally for several centuries.

E) Homer transcribed the Trojan War epics
sometime during the 8th century B.C., but their
origins go back to an earlier oral tradition.



Ortacag haritalari Hollanda’nin neredeyse yarisini
su altinda gosterir, ama o zamandan beri denizden
genis alanlar kazanilmistir.

A) In medieval maps nearly half of the Netherlands
is under water, but since then the sea has
withdrawn from large areas.

B) Large areas of what is now the Netherlands
have often been claimed from the sea, but in
medieval maps they were under water.

C) Nearly half of the Netherlands does not exist on
medieval maps but later large areas were
recovered from the sea.

D) Medieval maps show that large areas of the
Netherlands used to be under the sea, but they
have since been reclaimed.

E) Medieval maps show nearly half of the
Netherlands under water, but since then large
areas have been claimed from the sea.



Gegen yuzyilin baslarinda, 6nyargiyi, bazi irklara
karsi dogustan ve icgiidiisel bir tepki olarak diisiinmek
yaygindi.

A) At the turn of the last century, prejudice was
generally regarded more as an innate or

instinctive reaction to certain races.

B) At the turn of the last century, it was common to
consider prejudice to be an innate and instinctive
reaction to certain races.

C) By the turn of the last century people were
prejudiced against certain races and this was
regarded as an innate and instinctive reaction.

D) By the turn of the last century this innate and
instinctive reaction against race was commonly
seen as prejudice.

E) With the turn of the last century people grew
more prejudiced against certain races and this

was regarded as an innate and instinctive

reaction.



Cocuklar daha fazla bagimsizlik kazandikga, onlarin
genleri kendilerine uyan g¢evreler yaratmak

icin daha aktif bir tarzda isleyebilir.

A) Once children start to grow more independent,
their genes operate in a more positive manner to
create environments that suit them better.

B) As children get more independence their genes
start to operate more forcefully to create what is
for them a more congenial environment.

C) As children gain more independence, their
genes can operate in a more active manner to
produce environments that suit them.

D) When they attain more independence, children
start to desire a more congenial environment

and their genes work with them to attain it.

E) Once children have attained a greater degree of
independence, their genes prompt them to

desire a more congenial environment.



Katherine Mansfield, 6zellikle Rus yazar
Chekhov’un kisa hikayelerinden etkilenmis ve
onun gibi, konudan ¢ok ¢evre ve karaktere dayali
hikayeler yazmgtir.

A) The Russian writer Chekhov’s short stories
depend more on atmosphere and character than
on plot, and this impressed Katherine Mansfield
and influenced the way she wrote.

B) Katherine Mansfield was a great admirer of the
Russian writer Chekhov, and her short stories,

like his, are centred around character and
atmosphere rather than action.

C) Like the Russian short-story writer, Chekhov,
Katherine Mansfield wrote short stories that
depend for their effect more on character and
atmosphere than upon action.

D) Katherine Mansfield greatly admired the style of
Chekhov in his short stories and, like him, wrote
short stories in which character and atmosphere,
not action, come to the fore.

E) Katherine Mansfield was particularly impressed
by the short stories of the Russian writer
Chekhov, and, like him, she wrote stories which
depend more on atmosphere and character than
on plot.
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2006 kasim 41-45

Kuzey irlanda, Birlesik Kralligin ayrilmaz bir pargasidir;
ancak, 1920’de irlanda’nin Yonetimi

Yasasi’'na konmus olan hiikiimlere gore, yari
6zerk bir yénetime sahiptir.

A) Northern Ireland constitutes a major part of the
United Kingdom even though, according to the
Government of Ireland Act of 1920, it is

governed semi-autonomously.

B) According to the terms of the Government of
Ireland Act of 1920, Northern Ireland makes up a
significant part of the United Kingdom despite

the fact that its government is semi-autonomous.
C) Northern Ireland is an integral part of the United
Kingdom, but, in accordance with the provisions
made in 1920 in the Government of Ireland Act,

it has a semi-autonomous government.

D) Northern Ireland is regarded as an essential part
of the United Kingdom and, under the terms of
the Government of Ireland Act of 1920, is
administered by a semi-autonomous

government.

E) According to the provisions made in the 1920
Government of Ireland Act, Northern Ireland,
which is an inseparable part of the United
Kingdom, has a semi-autonomous

administration.



Patara’da pek ¢ok pansiyon ve birkag¢ gorkemli
otel olmasina ragmen, geleneksel kdy yasami
hala devam etmektedir.

A) Patara boasts various pensions and a number of
magnificent hotels even though village life
continues here in a traditional way.

B) Despite a number of pensions and some
excellent hotels, Patara is still a village which

has a traditional way of life.

C) Though a village where traditional life still goes
on, Patara has a great number of pensions and
several luxurious hotels.

D) Although in Patara there are many pensions and
a few splendid hotels, traditional village life still
continues.

E) Patara, which has several pensions but few nice
hotels, is just a village where life goes onin a
traditional manner.



On altinci yiizyilin ilk yarisinda Fransa krali olan
I. Frangois, lilkesini Avrupa’da 6nde gelen bir giig
yapmayi diiglemis, ancak Avusturya imparatoru
V. Charles tarafindan engellenmistir.

A) The French king Frangois I, who had the dream
of making his country Europe’s dominant power
in the first half of the sixteenth century, was
opposed by the Austrian emperor Charles V.

B) Frangois I, the king of France in the first half of
the sixteenth century, dreamt of making his
country a leading power in Europe but was
prevented by Charles V, emperor of Austria.

C) Charles V, the emperor of Austria, stood up
against Francois |, the king of France, who
dreamt of making his country a major European
power in the first half of the sixteenth century.
D) Frangois I, the king of France, had the dream of
turning his country into the chief European
power in the first half of the sixteenth century
although he was opposed by Charles V, emperor
of Austria.

E) The king of France in the first half of the
sixteenth century, Francois I, dreamt of making
his country one of the major powers in Europe
but was dissuaded by the Austrian emperor
Charles V.
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On dokuzuncu yizyilin sonlarinda X isinlar kesfedildiginde,
bilim adamlari benzer tiir bagka isinlar

bulmak icin hemen yogun arastirmalara giristiler.
A) It was in the late nineteenth century that,
following the discovery of X-rays, scientists
suddenly embarked on a serious research
programme to trace various other similar rays.

B) Following the discovery of X-rays in the
nineteenth century, comprehensive research

was soon undertaken by scientists in order to
detect other rays of the same kind.

C) Towards the end of the nineteenth century, when
X-rays were discovered, scientists were already
involved in extensive research in order to study
other kinds of rays.

D) The discovery of X-rays in the late nineteenth
century motivated scientists to carry out
exhaustive research in order to detect other
types of rays.

E) When X-rays were discovered in the late
nineteenth century, scientists immediately set
out on intensive research to find other similar
types of rays.
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Roma imparatorlugu’nun yikihsindan sonra, imparatorlugun
bir pargasi olan Avusturya, Slav kékenli

cesitli milletlerce istila edilmistir.

A) Following the fall of the Roman Empire, Austria,
which had constituted part of the Empire, was
settled by different peoples of Slavic origin.

B) In the aftermath of the fall of the Roman Empire,
Austria, which had been one of the regions of

the Empire, was overrun by a number of

originally Slavic peoples.

C) Soon after the fall of the Roman Empire, Austria,
which had been a region of the Empire, was
conquered by various nations, mostly of Slavic
origin.

D) After the fall of the Roman Empire, Austria,
which had been a part of the Empire, was

invaded by various nations of Slavic origin.

E) When the Roman Empire fell, a number of
nations of Slavic origin had already invaded

Austria, which was part of the Empire.



2007 Mayis 41-45

Dilbilimi, son zamanlarda hemen tiim alanlarda muazzam bir genisleme saglayan, geng bir sosyal
bilimdir.

A) Linguistics, which is, in a sense, a young social science, has expanded in every area in recent
times.

B) Linguistics is a young social science, which has recently had a massive expansion in almost all
areas.

C) As a young social science, linguistics has expanded enormously in all areas in recent years.

D) Although linguistics is in fact a somewhat young social science, its recent expansion in almost all
fields has been remarkable.

E) Linguistics, which has expanded rapidly in all areas in recent years, is in fact a young social
science.



Shakespeare’in ailesi, idami, 13. yiizyil ortasinda kayda ge¢mis olan Warwickshire’li eskiya
William Sakspere’e dayanmaktadir.

A) It is to William Sakspere, a Warwickshire robber in the mid-13t" century, whose hanging is
recorded, that Shakespeare’s family is related.

B) William Sakspere was a mid-13t century Warwickshire robber whose hanging was recorded and
to whom Shakespeare’s family can be traced.

C) Shakespeare’s family can be traced back to a Warwickshire robber, William Sakspere, who was
hung some time in the mid-13t century.

D) Shakespeare’s family goes back to the Warwickshire robber William Sakspere, whose hanging
was recorded in the mid-13t century.

E) Shakespeare’s family has been traced back to William Sakspere, a Warwickshire robber, whose
hanging in the mid-13th century was recorded.



Yashlarin gengleri sayica gececegi bir gelecekten korkan pek ¢ok hiikimet, insanlari gocuk sahibi
olmaya tesvik etmek icin ne gerekiyorsa yapmak-tadir.

A) Fearful of a future in which the elderly outnumber the young, many governments are doing
whatever they can to encourage people to have children.

B) Most governments, afraid of a future in which there are more elderly than young people, are
taking whatever measures they can in order to persuade people to have more children.

C) In order to urge people to have more and more children, a number of governments, which fear
that the elderly will outnumber the young in the future, are introducing whatever incentives they
can.

D) Various governments fear a future in which the number of the elderly will exceed that of the
young, and are hence doing their best in order to convince people to have children.

E) Since governments are afraid that, in the future, the number of the elderly will exceed that of
the young, they are doing all they can so that people may have more children.



Elmaslar, muhtesem giizellikleri icin ¢cok siddetle arzu edilir, ancak basit gerc¢ek su ki onlar sadece
sikistirilmis kristalize karbondur.

A) Because of their wonderful beauty, one always has a great desire for diamonds, but the truth is
that they are no more than just compressed crystallized carbon.

B) Although diamonds are always desired for their exceptional beauty, in fact they are really only
compressed crystallized carbon.

C) Diamonds are much coveted for their exquisite beauty, but the simple truth is that they are just
compressed crystallized carbon.

D) Invariably one has a strong urge for diamonds because of their extreme beauty even though in
truth, they are only compressed crystallized carbon.

E) In fact, diamonds are merely compressed crystallized carbon, but there is always a widespread
desire for them due to their magnificent beauty.



ABD, Arap petroliiniin serbest akisini saglamak i¢in askeri gii¢ dahil gerekli her vasitayi kullan-
maya kendini resmen bagimli kilmistir.

A) In order to secure the free flow of Arab oil, the USA has officially decided to resort to any means
imaginable, including military force.

B) The USA is officially committed to the use of any means necessary, including military force, to
ensure the free flow of Arab oil.

C) It is a determined policy of the USA to make sure, through the official use of any means,
including military force, that Arab oil flows freely.

D) The USA is clearly determined to use any means whatsoever, even military force, in an effort to
secure the unobstructed flow of Arab oil.

E) It is the official policy of the USA to ensure the free flow of Arab oil by using all kinds of means
except military force.



2007 Kasim 41-45

Yillik olarak iiretilen 67 milyon ton dokuma ipliginin
yarisindan fazlasi petrolden elde edilen sentetiklerdir.
A) Half of the synthetics produced from petroleum
within a year make up more than 67 million tons

of textile fibres.

B) Annually, 67 million tons of textile fibres are
produced, almost half of which are synthetics

based on petroleum.

C) About half of the 67 million tons of textile fibres
which are produced in a year are synthetics

made essentially from petroleum.

D) More than half of the 67 million tons of textile
fibres produced annually are synthetics made

from petroleum.

E) Petroleum-based synthetics account for about
half of the annual production of textile fibres,

which amounts to 67 million tons.



Bildigimiz gibi, Amerika Birlesik Devletleri anayasasina
gore, Kongre sinirsiz bir yasama yetkisine

sahip degildir.

A) As far as we know, the Constitution of the United
States of America does not grant to Congress
unlimited powers for legislation.

B) As we know, according to the Constitution of the
United States of America, Congress does not

have unlimited power of legislation.

C) We know that, according to the Constitution of
the United States of America, Congress cannot
exercise unlimited power for legislation.

D) As is well known to us all, Congress is denied by
the Constitution of the United States of America
the right to use unlimited power for legislation.

E) As we all know, Congress’s unlimited power of
legislation has been curtailed by the Constitution
of the United States of America.



Kadinlarin bilimsel arastirmalardaki durumuna
iliskin olarak denilebilir ki temel sorun, kadinlari
bilime ¢ekmek degil, ancak yetistirildikten sonra
onlar bilim icinde tutabilmektir.

A) On the part women play in scientific studies, it is
to be emphasized that the initial problem is not if
women find science attractive but if they can be
involved in it after their training.

B) One may argue about the position of women in
scientific studies that the major problem is not
how to attract women into science, but how to
employ them as soon as they complete their
training.

C) With reference to the role of women in science, it
must be stated that the primary problem is not
whether women can take part in scientific
research but whether they can be relied on after
they have been trained.

D) As for the role of women in scientific research,
one can maintain that the ultimate problem is not
whether science is attractive to women but
whether, following their training, they can
contribute to it.

E) As regards the status of women in scientific
research, it may be said that the fundamental
problem is not attracting them to science but
retaining them in science after they have been
trained.
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Uyku haplari, 6zellikle birka¢ haftadan daha uzun
siire veya yliksek dozlarda diizenli olarak kullanildiginda,
bazi insanlarda bagimliliga neden olabilir.

A) When people take sleeping pills regularly at
particularly high doses for much longer than one
or two weeks, they become very dependent on
these medicines.

B) If sleeping pills are used regularly at high doses
for a few weeks or longer, some people in
particular can develop an addiction to them.

C) Sleeping pills, especially when used regularly for
longer than a few weeks or at high doses, can
cause dependency in some people.

D) So long as sleeping pills are taken at very high
doses for several weeks or longer, they can

cause dependency in a number of people.

E) Some people can be particularly addicted to
sleeping pills when used at high doses or for

much longer than several weeks.



Bazi siyaset bilimciler, Uyeleri arasinda derin duygusal
iliskilerin var oldugu ailenin, ufak capta siyasal

bir sistem gibi oldugunu ileri stirmuslerdir.

A) Some political scientists have argued that the
family, in which deep emotional relationships
exist between members, is like a political system
in miniature.

B) In the opinion of various political scientists, the
family, which consists of members with deep
emotional relationships, can be compared to a
minor political system.

C) As a few political scientists have argued, the
family reminds one of a political system in
miniature, in which members have deep
emotional ties.

D) As pointed out by a number of political scientists,
the family, whose members are emotionally
bound together, resembles a minor political
system.

E) Some of the political scientists present have
suggested that the family, in which members
maintain strong emotional ties with each other, is
similar to a small political system.
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